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Qis R's mother. S i8 R's

. ) u 11tCry

brother. HOW is S related t
(A) crandfather

(B) Brother

(C) Son

(D) Father

f individuals

2, It is the organised aggregate 0 n

who interact without giving significanc

hierarchy
(A) Reference groups (B) Horizontal groups

(C) Vertical groups (D) None of the above

3. The H.C.F. of two expressions p and q i8 1,

Their L.C.M. is
) = (B) pq
Pq
(€ (p-q) (D) (p *q)
4. Pacific Step Up is the Forum related to
(A) USA (B) Japan
(C) Australia (D) India

5. Animals are named as per
(A) International Zoological Nomenclature

Committee

(B) International Zoological Nomenclature
Organisation

(C) International Zoological Nomenclature
Agency

(D) International Code of Zoological
Nomenclature

6. Af is t'he functionality expansion
of memory tloke:?, Incorporating one or more
integrated circuits into the token itselfl

(A) Smart token (B) Digital token
(C) System token (D) Memory token

7. Formula One F1-British Grand Prix-

Silverston.c Circuit, Silverstone, Britain which
was held in July 18, 2021 was won by

(A) Mercedeg’ Lewis Hamilton
(B) Tekwilson

(C) Robert D'silvg

(D) Bhayigh, D'sozg
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rom the given answer fi
gures, sclect th
ne in which the question figure is hiddgn/

mbedded.
Which Section of IT Act, 2000 deals with
legal recognition of digital signature ?

(B) Section 6

(A)

(D)

(©)

NE

(A) Section 5
(C) Section 4 (D) Section 3

Who was the author of «The Spirit of Laws” ?

(A) Montesguieu
(B) Rousscau
(C) Diderot

(D) Voltaire

aximum number of pieces into
an be cut into 19 cuts ?
(B) 412
(D) 145

What is the m
which a cube ¢
(A) 316

(C) 392

word is a means of
nformation in an organized and
r that displays text in a gri
s of cells.

In Microsoft
presenting i
attractive manne
of rows and column

(A) Chart (B) T?blc
(C) Word Art (D) Picture
in promoting communal
ation

It has helped
harmony and in k
at the forefront.
(A) Imperialism
€ Secularism

eeping national integr

(B) Both (A) and (D)
(D) Orientaliem

Who was the author of “Divine Comedy" ?
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8. @& mh e aghvd # &, =78 e g R
sty g & /e 8 |

9. arﬁ.aﬁ.aﬁhﬁm,zooo#ﬁmmﬁﬁ%mm
) T wrn W & 7

(A) U 5 (B) W 6

(C) HTT 4 (D) 9T 3

o) fife St R o6 e e 8 1

10.

11.

12,

Plato
A) Romances (B)
((C)) Aristotle (D) Dante Alighieri




Join Telegram Group "HaryanadJobs.in"

18. Density ZMN
poaulel BT
~ 2N,
N D) d=-2-
©a-22 AT,
Z

16, The Oath of Office to president 18

administered by "
k Sabha

(A) Speaker of Lo o

(B) Chief Justice of Supreme Court 0

(C) Prime Minister

ndia

(D) Vice President

i the square of
., If a number is subtract_cd from :
M its one-half, the result 18 48, The square roo

of the number is

(A) 6 (B) S
(©) 4 (D) 8
18. is not the option of the alignment tab.
(A) Left (B) Justify
(C) Middle (D) Right
19. From which language is the term “human”
derived ? .
(A) Sanskrit (B) Persian
(C) Latin (D) Greek
20. Find the missing term in the following series.
1A2, 3C4, 7G8,
(A) 13P14 (B) 14015
(C) 16P17 (D) 15016

21. Who among the following Indian born person
___has been appointed as Chief Economist of the
£ International Monetary Fund ?

‘Bl (A) Shankar Acharya

(B) Bina Agarwal

(C) Gita Gopinath

(D) None of the above

22. In Haryana, ICAR-National Bureau of Animal

Genetic Resources (NBAGR) located in
(A) Delhi

(B) Karnal
23.  Morpholog
individuals are Callcdg ally similar
(A) Twins B) Traits
(C) Specimeng (D) Clones
M24
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19, g 1 e s & fen e R 7
(A) EEFd () e
©) A (D) H=w
20. Frffea e § g 9@ H1 IR |
1A2, 3C4, 7G8,
(A) 13P14 (B) 14015
(C) 16P17 (D) 15016
21, P 31 P s v s Ry ) it
e e ¥ i g e
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(D) ST # { d ey
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The port which is known as ‘Queen of the
Arabian Sca'

(A) Marmagoa
(B) Mangaluru
(C) Kochi

(D) Mumbai

The branch of Geography which is devoted
to the study of landforms, their evolution and
related processes is

(A) Ecology %gﬁ
(B) Geomorphology BiE
(C) Hydrology

(D) Climatology

Tenure of judges of International Court of
Justice is
(A) 6 years
(C) © years

(B) 8 years
(D) S years

In Microsoft Office Word, 2003 is
a shortcut key to select a entire document.
(A) Ctrl + A (B) Shift + Up

(C) Shift + Home (D) Shift + End

The output per unit of variable input is

(A) Average product
(B) Marginal product
(C) Average cost
(D) Total product

If you deduct depreciation from the Gross

Investment, W€ will get
(A) Final goods (B) Net Investment
(C) GDP (D) None of the above

Cost price of 100 books is equal to the
selling price of 60 books. The gain or loss

percentage will be

(A) 665% (B) 66%

3 662 %
© 662% (D) 66%%

Which of the following is types of electronic
payment mode ?

_ (A) credit card
(C) e-cash

(B) e-cheque
(D) all the above

24,

26.

27.

28.

29.
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31.
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wren @

(A) mHman

(B) HTEE

(C) :fe

(D) T
Tﬁaﬁnmsﬁqﬁtw,mﬁmaﬂt
waifira whFa % avemr ¥ frg aufifa 8

(A) iR

(B) ¥-3mgfa R

(C) w& forama

(D) wrerary farr
Wmtmmﬁmmﬁt
(A) 68 (B) 8 T

() 9= (D) 54

e 78, 2003 § —— FY ZE

T A AR AR
. | )
(B) Shift + Up @%

(A) Ctrl + A
(C) Shift + Home (D) Shift + End®:

T 7T T WA g A R
LRI

(B) HiwTa IR

(C) 3ftwa wmTa

(D) et IR

et P & eET werd e A E W

g |
(B) e fraw

(A) 3ifom awqd
(C) & (D) 3% § & A T

100 J&eh! H1 59 I 60 Te! ¥ fasra e &
e R | T a1 e s @ g ?

(A) ae.j;% (B) 66%
(C) 662% (D) 662%

4 3
i # @ yeta e T Tl & FH
a-ark?

(A) Wiz F1¢ (B) §-3%
(c) §-%w (D) 3w @t
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i . In this
32. gtf—ggzriculmm is B) ,ﬁ-ﬁq‘@?ﬁ . followec
(A) Intensive farming © aft ) wTATATCE HET ;::::‘::
(B) Sedentary farming D gt # & =g e 1. Sor
in (D) 2. Sor
(C) Shifting farming rrarerat Conclu
(D) None of the above 33. aft .ot A L All
de f % () it T i on
33, GDP stands for ) On
(A) Gross Dollar Price (B) e élﬂiﬂﬁﬁ ) Ne
(B) Gross Domestic Price (C) P e (D) On
(C) Gross Domestic Product (D) I T 40. Isdlitrc
{ the above : th
(D) None of the abo ) ﬁ%mmmvmmt: ribeed
34, The following question is bascd on the 8eriee ABCDETFGHTIyJg s
JKLM L)
ABCDETF®GHI p POQRSTUVW (A) 16
NOPQRSTUVWXY N O XY © 15
If the letters of the given series interchange 2R 4@ SjEer % SR TH TR W T g .
positions, so that A takes the place of Z and 2 AFWATZ mmaﬁ-{ Z*WWM 41, Fg.:c gir
takes place of A and 8o on. What will be the ) oft eft ST B, A ® 133 Sw Ay :ojta::;
13t Jetter from the right ? (A) L (B) O Monika
BEE (A) L I:B) @] ThCl'h A
IR (D) M (C) N (D) M the follg
(A) Sul
(C) Mo
35. The Election Commissioner can contifiue in ‘ HTGHRT
office till the age of S foem Wﬂﬁﬂﬂﬁtﬂﬂﬂ 42. FCFS s
(A) 62 (B) 65 (A) 62 (B) 65 [[g]i ;‘irs
(C) 58 irs
) (D) 60 (C) 58 (D) 60 (C) File
36. The Right to Property is simple legal ri : i (B} Mle
tndian Consititlon atins Pt ghtin | 36, el wfturm 3 Ry Wﬁmmﬂﬂ# 43. The ba
(A) 300 A (B) 326 A W gt arfreme & 7 creation
(C) 268 (D) 243 (A) 300 A (B) 326 A (A) RN
(C) 268 (D) 243 (B) mR!
87. Deflation may be defined as a state of fallin 1 (C) Dou
prices but not 8] . W'ﬁ:@ﬁﬁﬁﬁmm ! (D) DN
(A) Fall in prices LR (T S o | 44. What s
(B) No change in prices (A) e 7t ez (A) 6 St
(C) Zero prices (B) Wﬁ“ﬁﬂhﬁﬂq (B) Star
D) Rise | i "Tﬂ leng
(D) Rise in prices {g} H.Eq"lﬁ (©) Sta
38, How much angle does an hour hand cover In u@ﬁﬁ (D) 4 St
17 minutes ? 38, 9 | 45 ;
el ﬂ"ﬂ . Find odc
(A) 12.5° (B) 8.5 T 17 firv 3 fapee w0 1,99,
. (&) 1 (A) 19
(©) 10 (D) 17¢ 2.5° (B) 8.5° (© 16
(€) 10e
M24 (D) 17°
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In this question, two statements are given | 39. TOUH ﬁ,ﬁlwﬁqm%ﬁﬁ#mé‘lﬁﬁﬁﬁqm’é\
followed by two conclusions. Choose the‘ 3 frerd gﬁqaﬁmmﬁﬂﬁﬂﬂmﬁaﬁii
conclusion(s) which best fit(s) logically. ForT ¢ -
Statements : ) Y —a—1 R
1. Some matters are elements. wE o id qéwi S TY ki
2. Some matters are not molecules, l‘gi Ez' ﬁ"? . ¥ .
Conclusions : 2 'tfi _—y 02
I. All elements are matter, II]. g“? T‘ﬂ‘ﬁﬂ! |.
I1. Some molecules are el 18, .
(A) Only conclusion 1 follo?.:v:m : (A) et Fre 1 T e 8
(B) Neither conclusion 1 nor 11 follows ) 7@ Brewd 1A 3?314'(“1'5{?113 154
(C) Both conclusions 1 and 11 follow () At Frowd 1 3t 11 srgEr F .
(D) Only conclusion 11 follows (D) are foroamd 11 e e 2o Meh
15dlittr:s of a{ mixtturcl fconmim 20% alcohol | 40. 15wzt s § 20% srmvere st arhi ot ¥ |
an ¢ rest water, 3 it f ter b
mixed in it, the ;:m:r»::t:magti‘1 ;F?ﬁlgolﬁ\? i?‘lr th: uﬁ Wi 3 et T afw fren foan g, A 70, frarn
new mixture will be T aremrere! w1 wieara B -
2 1 2 1 11,2
= B = A = B 2,
(A) 163 (B) 182 (A) 163 (B) 182 i
(C) 15 (D) 17 (C) 15 (D) 17 W,
Five girls are sitting in a row. Rashi is not 41. W‘l‘ﬂﬁsﬁ?ﬂmﬁﬁﬂ'@l! l‘ﬂ%’@ﬂﬂ A F T 5
adjacent to Sulekha or Abha. Anuradha is IR TR W.@@*Wimﬂh -
not adjacent to Sulekha. Rashi is adjacent to _ . IDABA,
Monika. Monika is at the middle in the row. e, S ¥ ara & & | e R 6w LA ] ’_‘
Then, Anuradha is adjacent to whom out of A g ity amdy? 3
the following ? :
A) evat B) a1 i)
(A) Sulekha (B) Abha (A) (B)
(C) Monika (D) Rashi (C) wfwAt (D) Tt -
¥Yth
FCFS stands for 42. W'ﬂo‘tﬁgﬁm 1 e 4
(A) First-Come-Fast-Served (A) wé-w-:?rg— /A
(B) First-Come-First-Served (('lé)’ -EF;; - /i
(€) File-Come-Fast-Served g - : :
(D) File-Come-First-Served (D) HTER-hM ~THEE ~TEg "
The basic event in reproduction ls the | 43, Herveafy § onurog wen iy o Pk v
creation of a copy of (A) T, (Tl =R 3n=T) lll
(A) RNA (Ribo Nucleic Acid) (B) TH.IMTE.Y,
(B) mRNA ded RNA (C) T RITE ALY, |
(C) Double Strande .U, ( Rearted T -
[D]) DNA (Deoxyribo Nucleic Acid) (D) ST, ( T )
What is Heterostemony ? 44, Wi mt ?
(A) 6 Stamens of equal length (A) T Eﬁﬂi ¥ 6 tzrh'-l |
(B) Stamens attached to perianth in equal (B) W s ¥ Ay & R TR
length v o
(©) Stagmcns of different lengths (C) E_'*”i: R
(D) 4 Stamens of equal length (D) ¥HH Sy & 4 WA
Find odd number out of the following. 45, ﬁ'ﬁlﬁiﬁqﬂ i T Yy w
36, 49, 64, 81 o 14y 916, 19,36, 49, 64, 81
1 4 9. 16; 19! ! 1 1 Vo l () \
A) (B) 49 CV (A 197 O By 49
8 .22 C) 16 (D) 9
(C) 16 (D) 9
- M24
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48,

(A) 142,7m
() 122.7m
- {
ing theory attemp
oM clationships and
ng such as
hey change ?

Which of the foll
to explain large-scale rel (
answer fundamental questio
why societies form and why t
(A) Grand theories

(B) Social theories

(C) Structural theories

(D) Paradigm theories

Which of the following is not a tab under
Format AutoShape dialog box ?

(A) Position (B) Callouts

(C) Web (D) Colors and lifies

The C_omlpanies Act, 2013 focussés on the

commission of the fraud rather than the
to the affected parties,

(A) Resulting loss (B) Capturing

(C) Punishment (D) None of the above

Read the data given b

1
answer the following qi&‘:'i:éld based on it

Six Friends Priya, Qui
Twinkle and Varj
circular table.

sha are, ::itf’nHI Shwethg,
a

* All of them are fa

cing y;
of the circle, € lowards the Céntre

Twinkle is not sittin

g belween i
Shlwetha but someone else rrm?lullney and
Priya sits o the left of Varigp, e SO
KKeena is fourth 1 the ’

- Tight of p, .
Who is 8itling to (he right of Of Priyg
(A) Priyg ) Varigh, 5
(C) Twinkle Uing

46.

47.

486

49,

50.

51.

E
aR o A R Momyg,,
T B, ??T‘PRINCIPAL'qh.ﬂ Ay

(A) SULQFLSDO (g, ME:@% %
52.

() MUFQZLMDI (D) MRPKZ

e it 1 A 1 0,5 Mim
1.6 x 10° Qm ¥ | 7y,
Rroamc R S FEh gy
(A) 142.7 m (B) 152%
(€) 1227 m D) 1125,

e 3 TS g mﬂ“!
nﬁ%rzﬁm#?ﬁm%ﬁ?mmm“w
(A) e fergre

(B) amfirer frgra

(C) wTErTene fargra %
(D) sl R
forerferfies 3 & - oft iz o e
aferiel weh 2w el R 7

(A) T (B) Fiearm
(€) 3= (D) T
st arffgm, 2013 & wafim vata_
T METE & Feem | Fat
(A) sorERT B (B) St
(C) &= (D) Fqdge

R g Pyt rer apr are it bR

P s ¥ am ¥

: 3t i, e, €, A, B

TR 2ot & )} i A3 |
'E;I‘Ff%ﬁmﬂ-@qqﬁ;ﬁ;ga‘ﬁam?' ;
* e ot A 5 v 8 e A
¥ s g

o
s
¥

B, e g a2

8, Bran 6 ard <y A W R
SR 3 a3 4 2 7

(A) Rray
©) R

53,

54.

86,

57.

S59.

60.

Inar
and N
is twe
boys
(A) 1
C) ]

If 28
(A)
(€

This
to Q
(A)
(C)
Com
1, 3,
(A)
(€)

One
3m
spec
volu

(A)
(C)

Whe
be I

(A)
(C)

In &
68,

cod
(A)
(C)
Ine
litre
How
of n
(A)
(C)

Fin

(A)
(€)
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59,
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In a row of boys, Akash is fifth from the left
fmd lehil is eleventh from the right. If Akash
s twentififth from the right, then how many
boys are there between Akash and Nikhil ?
(A) 13 (B) 15

(C) 12 (D) 14

If 2805 + 2,55 = 1100, then 280.5 + 25.5 = ?
(A) 1.1 (B) 1,01
(€) 11 (D) 0.11

This Section of IPC deals with ‘Disobedience
to Quarantine Rule’

(A) 271 (B) 272 (=]

(C) 273 (D) 270 E&%
Complete the series.

1,3,7,13,21,?

(A) 29 (B) 31
(©) 33 (D) 27

One mole of a monoatomic gas is mixed with
3 moles of a diatomic gas. What is the molar
specific heat of the mixture at constant
volume ?

9
(A) :R (B) %R

(C) R (D) s R

4
When a process is to be executed, it has to
be loaded from the secondary storage to the
main memory. This is called
(A) Scheduling (B) Paging
(C) Sharing (D) Process loading

In a certain language, MONEY is coded as
68, RACE is coded as 85, then FUNGI will be
coded as
(A) 79
(C) 85
In a hospital, there is a consumption of 1350
litres of milk for 70 patients for 30 days.
How many patients will consume 1710 litres
of milk in 28 days ?

(A) 85 (B) 95

(C) 105 (D) 59

Find the missing term in the following series.
2,5, 10, 17, 26,
(A) 30

(C) 35

(B) 83
(D) 78

(B) 42
(D) 37

52.

B4,

B6.

57.

60.
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gt A o A ¥, amRn & g § ok
frfer ard & rvwat & | afd st and & wefieat 8,

M sty offt Prftee & e ey wa B 7
(A) 13 (B) 15
(C) 12 (D) 14

7R 2805 + 2.55 = 1100, A 280,5+25.5 =7
A) 1.1 (B) 1.01 {9%
€ 11 of g;yy, ‘S

arrd o, o - v o wm P @
aifira § 7

(A) 271 (B) 272
(C) 273 (D) 270
s ol e | ..

%3 7013t 21! 7

(A) 29 (B) 31

()33 (D) 27

o e oy e w1 A R 0w e e F
3 A % anu Preman s 8 | P o w s

f e e sen e ?
(A) %R (B) %R
(C) R (D) %R

S T wiwar o e fwan st R, @ ®@ st
PRy q@ i A e w | W ————

FET ¢ | o
(A) 513‘{!51'[ (B)
(C) Sraf (D) S wfén

& ffRm W #, MONEY %1 2 68, RACE 1
%2 85, T FUNGI ® ___ ¥ & % e =47 |

(A) 79 (B) 83

(C) 85 (D) 78

e areaare § 70 Uit & fore 30 &t 7
1350 #fet gy A @ya Bt & | 28 R H
1710 #fet qu frem vt # woa @eft 7
(A) 85 (B) 95

(C) 105 (D} 59
RrefRrie sfgen & g v A |
25,10, 17, 26, T._

(A) 30 (B) 42

(C) 35 (D) 37

M24
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63,

67.
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NIFTEM Stands for

Which is Not the advg
(A) lncrcaaed Prices
(B) Low Start-Up g
(C) Globa) Market p)
(D) 249/7 Accesg

(C) 10,000

India ;: New Delh;j .
(A) Parig

(C) Berlin

lnLcrnaLiunal Unive
Day is celebrated

(A) 3 January
(C) 12w December

If a, b, C, d, e are

numbers, their average g

(A) abcede

(C) a+4

(B) 5,000
(D) 1,000

! Gcrmany Hird
(B) Frankfurt
(D) Munich

rsal Health Cov
Very year on

(B) 22na Seplernbcr
(D) None of the

(B) 5{&4-b+c+d+e)
i (D) 5(a + q)

ntage of E-Commerce P

st
ace

following
by 3 but not

erage

above

five consecutiye odd
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CMmg
rifz
(B) mﬁmmﬁmﬁﬁﬁ%r@ -
() Wmmﬁ%%R
itz .
(D) mﬁmmw%ﬂm%ﬁ
62.  W-u1 §-Fhnd a1 vy 7y § 7 w
(A) 73 g7 qe

(B) % armifir g
(C) Affareh arem o

~D) 24/7 w7 (Ymrg)

61,

63. ¥ ¥ # wew, ufmmy oty ﬁ?raa*}-m
ﬂm"%mwﬂwwaﬁ%,mmm
méﬁﬁmnw%ﬁmmmﬁﬁmm

mmmmmﬁmml
(A) 2,000 (B) 5,000
() 10,000 (D) 1,000
64, W:ﬂfﬁv—vﬁ::?ﬁ:?
(4) ¥ (B) Sherord
(©) =¥l (D) mfyg ;

65, ﬁqﬁﬁamfi@ﬁmstﬁwaﬁmmst;
ﬁﬂwmmﬁsmt? t .
45832735178935331352
(A) 3 (B) 2
(€)1 (D) 4

66, ﬁwﬁm'ftcrmﬁmwﬁmﬁl
QPO, NML, KJl, » EDC,

(A) CAB (B) JKL
(C) aHI (D) HGF

87. sty L — N R sl @
-ﬁﬁmﬁwmtt
()3 Sy (B) 22
(©) 12 Ry (D) 3% ¥ & #ré |

68, UM g, b, ¢, q, tlha-.‘qma @t ’Q,?ﬁm?
e wr gy ¢ h |
(A) &b;de (B) S(a+b+c+d+d |
€ a+y (D) S(a + 4)

L B e

R e i i

et w5 o
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69. 4.5% of 800 .,
(A) 12

(C) 11.25

70.
and UK ig
(C) Air-to-gjp |

71.

Ommittee

he turned left

and travelled 5 km. How &r was he from

point A ?
(A) 17 km

B
(C) 5 km (B) 15 km

(D) 7 km

The dura tion of

basic traini
constables is IC training course for
(A) 9 months (B) 15 months

(C) 18 months (D) 6 months

Pradhan Mantri Kisan Urja Suraksha evam
Utthaan Mahabhiyan (PM-KUSUM) Scheme
was launched by

(A) Ministry of Jalshakti
(B) Ministry of New and Renewable Energy
(C) Ministry of Social Welfare

(D) Ministry of Coal

PowerPoint provides a range of screen views
for creating a presentation. They are

B) and (C) (B) Slide Sorter
((g; Sgi}r;[al} | (D) None of the above

What is the new per transaction ceiling
announced by RBI for Indo-Nepal
Remittance ?
(A) Rs. 2 Lakh
(C) Rs. 3 Lakh

In a college, election betwe

one candidate got 55% I I ths
votes. 15% of the votes were

iq the number
200, what is t |
total votes were 15 tidate got ?
i s the other can
of valid vote 5

7106
(A) 6842 (D) 8360
(C) 581

B) Rs. 4 Lakh
((D= None of the above

en two candidates,
of the total valid

-11-

>
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&
alky[E])
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70,

71,
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73.

74.

75.

76.
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800 = 4.5% + 640 1 0.5% = T
(A) 12 B) 11,75
(C) 11.25 (D) 112.05

wﬂaaﬂtmﬁa.%iﬁaﬂwﬁgﬂmmg
(A) 3y & &1 B) agavhy
(C) &g & =y (D) ¥ & = syt ”m
.08, 2. 7 e & |

(A) Tfteresret drefrersy itz s
(C) Tittheena ez Atz wfiy

(D) et sheye s me i

wa@ﬁgAﬁm?ﬁWW%mW
Sﬁ?ﬁﬁ?mlﬁﬂmﬁmgmw'mzﬂ
W5MWIMQWWWSMW|“
g AR R gron 7

Ay 17 e B) 15 fimt

(©) 5P (D) 7 et

(A) 9 uTE (B) 15 wrg

(C) 18 7[tR (D) 6 w78

S e St et G sam
(o, Ao g g e
(A) Srervife TaTeTg

(C) =\ sFemmor wrrrera

(D) =Y Harer

TEAIR O SR ) % R wh qut 6 o
At Suerey s k| A ¥

(A) c%ﬂam © @ (B) TS Wikt

(€) (D) 3% & Qg el

WA % frg s, g st T iy
RELERLUECIE DI &

(A) . 2 T (B) ¥. 4 ®r@

(C) & 3 @@ (D) I o & i T

q IfieETl % ot O oS! ¥ e ¥, O sfieEn
%Y e AW A F 55% NI G | 15% F He 1w

v}mﬁgﬁmalszooﬂ,a’tmm{aﬁﬁaéu
el <t e e R 7

(A) 6840
(C) 5814

(B) 7106
(D) 8360
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78,

which
Vernallsation 18 ,ubsumted by

treatment ?

(A) Ethylenc

(B) Gibberellin

(C) Auxins

(D) Cytokinin
ts about

Consider the following gtatemen

! i i,
Poverty line estimation in ]nlde:.rel or
I. In India, a subsistence iy
minimum level of food req

irements
clothing, fuel, me

dical requir .
' e
ete,, are determined for estimating t
poverty line,

ie
11, The accepted average calor
rcqu:‘rcml;nl in India is 2400 calories

- ) per day in rural arcas an
g%gc;‘:]c:ﬁgs per 51;(31130:'1 per day in
urban areas,

Choose the right option given below.

(A) Only the statement (II) is correct

(B) Both the statements (I) and (II) are
correct

(C) Both the statements (I) and (II) are
incorrect

(D) Only the statement (1) is correct

Find the missing number.

[E2E
963 | 2 | 844 }%
[ 464 | 2 [ 903 =
(A) 2 (B) 25
(C) 66 (D) 1

The sum of all
and 3004 0 MUmbers between 200

(A) 25100
(C) 12500

(B) 51200
(D) 25000

Exoskeleton of cockro
plates called

(A) Sclerite (B) Chondratin
(C) Cuticle (D) Chitin

The parameter uged to re
as Hotspot is

ach has hardeneq

COgnize g region

(A) Species evennegg (B) Area
(C) Shape of habitat (D) Endemj
8m

Which among the follow
most diversity ?
(A) Mammalia
(C) Fishes

ing SpeCieB has

“3) Fl.lngi
(D) Amphibiap

78.

79.

80.

81,

82,

83.

84,

CMMS ) Eu

Wﬂﬁmmmm%m
]

(D)
vy 2 e YT 3 ST A s
L

¢ Rrem At |
[, vyreer # v Y@ T SN Ty
fora, 1S Y STEATIHAT, F73, i
Pt arrarvERRTat 3R 3 Prafy
a1 =g T & R R smn g |

11, v # wfipa ftem Heht sy,
it # 0 0 3 7 2400 e g
mq}ﬁﬁuﬁrwl%srﬁrﬁazlooeﬁm}

Prafefes # @ o Reer Fr e ot
(A) e o (1) wet B

(B).ert (1) 3t (11) BT wreh §

(C) U (1) 3 (11) BT Tt e §
(D) et her (1) Wt R
T FE1 1 A |

963 2 844
464 ? 903

(4) 2 (B) 25
(C) 66 (D) 1
200 3 300 ¥ e Tt Ry Gt want
(A) 25100 (B) 51200
(C) 12500 (D) 25000 ﬁ%
mﬁwmaﬁm@%miﬁ“
(A) e (B) wizfA
ql;)g{ﬁm—t{ (D) fafes
ki Lol ¥ w9 § ygarA ¥ A
(A)
o

(C) (E) 7

TR A SR (D) ?
'?‘“'%fﬁﬂ?r 3 firerd gt AR
A) Retwrg (B) e
(©) Sty

(D) IWTH |
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85, Inward Foreign Direct Inve
(A) Not generate jobs
(B) Takes away jobg
(C) Stop existing jobsg
(D) Generate jobs

Stment (FDI)

86. Consider the followin
Voting Rights 1:-:-0‘.ridc;-,%jlEi::atmmmtS about
b I o country. ait H?];’ our Constitution.
21 years and above CZ Cona agsd
election, nvote in an
II. Some criminals and
: Persons wit
unsound mind can be denjeq thlt':l right
to vote, but only in rare situations <
Choose the right option given below,
((g; gnd%'1 t};c statement (I1) is corrcc't
oth the statements (I} a
ks (I) and (11) are
(C) Both the statements (I) and (I1) are
incorrect

(D) Only the statement () is correct
87. Who among the following having sole

authority to issue banknotes in India ?
(A) State Bank of India

(B) Reserve Bank of India

(C) Government of India

(D) None of the above

Consider the following statements about

web portal e-GOPALA. _ '
I. It has been launched by National Dairy

Development Board (NI_DDB).
I1. It let farmers manage llVC§tOCk .

including buying and selling of disease-

free germplasm in all forms.

i i i low.
Choose the right option given be
(A) Both the statements (I) and (II) are

correct '
(B) Only the statement (II) 18 correcctt
(C) Only the statement (1) is corre
(D) None of the above

88.

an
Aliphatic amines are stronger bases th

ammonia due to _of alkyl groups.

- | effect
! (A) - E effect (B) L
| (C) + I effect (D) + E effec

r of High Courts in India is

B) 25

ana st,
Bays p,

CMMS - 85

'SHEET ,

oY aTeht frdvefl wene Frin (. a1rd. )
(A) ST g T et ¥

(B) A & Freft B
OR:SGREUEIRE Gl

(D) AR G Feft B

86. TR R FT WA fiRu T e aAfreRrt ¥ an &

Frefafaa Foat w fem =t |
[ gt 3w, 21 9 af sed s oy % aft
AT ST 3 TeET TR § |
11 2 e gelv feuferat # oo st ot
T fawm ae! safrdl = dve 3 F wfien
B afera forn n wawen B |

Fr=rferfaa ¥ & v fersrea w1 =5 =t |
(A) SFeTet A (1) TE R

(B) =M (1) 3 (11) 21 | B

(C) Ty 2 (1) 3w 7
(D) S FYF (1) TE & ]

nda,

Totafiaa # € fres og ya § S A sl FR =
T ARTER R ?
(A) e R S
(B) s fiod s
(C) ¥RA TEHR
(D) ST A | I3 T
s e §-rivren 3wy P fRrRe e w R
HfT |
1. 7 T T R 9 (NDDB) ZR I fofmm Tt |
11, 8 et ) w3 Qg s e e
ol e wfi T e R R |
Frerforfia & W Rrpew 7 TR R |
(A) e (1) 3R (11) B e ®
BIEEE  (B) e e (1) ¥R
ﬁ%ﬁ (C) et e (1) T R
(D) I ¥ § g &

89, R sufi, s & i wRwIEh
wifh s oreemie T B f |

87.

vy

o TR

(A) - ENE (B) - I 3V
(C) +13WE (D) + E Ve
90, W@ H I e Y et v
(A) 21 (B) 25
(C) 23 (D) e i & g T

Total numbe

(D) None of the above
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91,

92.

94,

98,

G ve One-wi ] HOang H
1 T

on an
Holding fast or keeping firm hold

object or principle.

(A) Tectotaller

(B) Tenacious

(C] Tendency

(D) Tactile

Fill in the blank with appropriate words from
the alternatives given below it.

I'did not give him butter,

(A) fewer

(B) a few

" (C) any

(D) some

Choose the right antonym of the word given
in Capital Jetters from the alternatives given
below it

TAINTED
(A) Failure (B) Bold
(C) Bigotry (D) Pure

In this question, there are four alternativeg
following g word or phrase given as the key
term. One of the alternativeg best explaing
the Meaning of that word or phrage, Spot
the correct alternative,

Wily

(A) Cunning (B) An

(C] Wise

:  Belect the o
which best EXpresses the Bame 8entence ?rt:
Ind:rccr/l_)imc! 8peech,

“How clever of you (o have 8olveq ¢
80 quickly!” gaiqg the magiey. He Puzzlo
(A) The maser shouted that he h

the puzze g, quickly, ad belvag
(B) The Master wag slunned y}, th

s0lved Cleverly 1he JPuzgle © had

(C) The Master expregyed that ,

(‘219.11\,!&~
Y
‘ mmm?ﬁmmu’rm,
- E T 1 FaTEr | "
(A) gt
(B) BF-RHY
(©) g
(D) T @ rf et
97. a?aa?ef%ﬂmﬁwﬁfaﬁ______mgr
(A) TqHa
(B) fererdd
(C) fereir
(D) Teww

98, mmmmmt?

(A)wmwmmﬁmﬁmmm%m
'm’ﬁ*%'m%mmﬁ%mg

. ﬁﬁ"“‘a‘ﬁﬁﬁwﬁa‘r#ma@sﬁﬂ

Nﬁmammﬁa
e mtiaﬁ

(B)Wtrrq-;m

©) Ry
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1 1. mﬁmﬂaqwam?ﬁwmﬁa;m

2.
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Under the system of Executive Presidency
(A) Parliament elects the President

(B) People directly elects the President
(C) Electoral college elects the President

(D) Prime Minister and Council elects the
President

How many even numbers are there in the
following sequence of numbers which are
immediately followed by an odd number as
well as immediately preceded by an even
number ?
8676893275342235
52281109
(A) Three

(C) One

(B) Five

(D) None Eg@‘"‘
B

The Annual F inancial Statement

constitutes the main document
of the government,
(A) Revenue budget (B) Budget

(C) Balanced budget (D) Capital budget

-TWC-) numbers are in the ratio 3 : 5. If each
1S 1ncreased by 10, the ratio becomes
S5:7. The numbers gre

(A) 12, 20
(C) 15, 25

B) 3,5
(D) 30, 42

- 8™ July 2009 is a Sunday, which day of
1e week will 23 September 2013 be ?

(B) Friday

(D) Saturday

\) Sunday
) Thursday

> salt water lake located in Rajasthan is
Dal lake (B) Pulicat lake

Sambhar lake (D) Chilka lake

h among the following is highest in the
> hierarchy ?

1spector General of Police

iditional Director General of Police

puty Inspector General of Police

perintendent of Police

CMMs _ o

(A¥ WWWWM%

(B) T H TIFT 1 o ey

(C) TN I T 51 S a4
(D];‘ﬂ?ﬁw“@,{ﬁmw

2. Fafifa e e Fve e g

TSI R ?

8676__8_9__3275342235
52281109 =

(A (B) gtg

[} Ben (D) 4
TEAET B | —
(&) T T .

{C) ¥|§1|%iciﬁ'~if?: (D) %ﬁm %%

TGS : 5% S § | aft g 20
10 R g R et 2, 5 .

w% SARRIGH .73’t‘iﬁm‘3|
(A) 12, 20
(C) 15, 25

(B) 3,5
(D) 30, 42
3 8 gemé 2000 .

U Uqan # | 23 Rgar 2013 3
e B B -71 g 2y
(A) Fear

(B) grar
(C) TeaR (D) R
“il!ﬂﬁﬁﬁm‘@ﬁ‘mﬁﬁgﬂa%
(A) T s o e
el
ferd Tarem .
TR AR 7 e 2 - e e
(A) Hﬁm%ﬁﬁw
(B) “ﬁﬂaﬁﬁf%ﬂqmﬁ-éw
(C) gferd IuETtares
(Dy icrd srefterh
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ns two statements
jons. Choos¢ the

C
CS validly drawn on the

follows
follows

() A
lm Noneé
state of Cities Climate
released by the Cities
Alliance and

ort titled ‘The
. ?ﬁgfs s recently r€ €S
Climate Finance Leadership
t?:] small Industries Development
India (SIDBY)
(B) World Bank o
() world Trade Orgamsatmn (WTO)

(D) UNICEF

Bank of

is a process of
due to contact between
belonging to different

10. Acculturation

cultures.
(A) Transmissive culture
(B) Cultural change
(C) Shared culture
(D) Both (A} and (C)
11. Ina train 5 seats are vacant, in how many
ways, can 3 passengers occupy the seats ?
480 (B) 60
(€ 10 (D) 20

12, What
number should replace the question

mark ?
T
2
.H 93 7 g
3 ?
8 4 <
(A) 46 1
(D) 66

©) = st
) aﬁia@m;@;%

® m‘famgg@qmm'
ST 3 s
B) = & 3w e

(D)’ qHEw

E}@

okS(o|

10.




13.

14.

15.

16.

17.

18.
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isi and
In India, the main rcgul.atory prgvézfrl:‘;)tion
legislation governing bribery an
is the ,
(A) Indian Compan}éAc
B) Indian Penal Code
}Ci Criminal Procedure C!::deA t
(D) Prevention of Corruption AC

refers to

The Globigliwnaon dent of the world

[A,'I Growing indepen

economies .
(B) Integration between countries through

= 1 trade and foreign investments
o ional Corporations (MNCs)

by Multinatio:
(C) Decentralization of the economy |
(D) None of the above
What is the minimum number of cuts
required to cut a cube into 294 piecesl?
(A) 18 (B) 17
(C) 21 (D) 19

Which type of ribosome present in
prokaryotic cell ? ¢ :

(A) 70S (B) 508 )
(C) 80S (D) 60S E- 1'?3
: ’ =
(5967 — 2437 — 1910) + ? = 27
(A) 60 (B) 50
(©) 65 (D) 45

Recently, the NARCL was registered in
Mumbai with the aim of cleaning up the bad
loans from bank books. NARCL is

(A) National Amount Resolvance Co. Ltd.
(B) . National Asset Reconstruction Co. Ltd.

(C) National Asset Resolvance Co. Ltd.
(b7 National Audit Resolvance Co. Ltd.

The election system in which the candidate
who is ahead of others, who crosses the
winning post first of all, is the winner
called in

(A) Plurality system

(B) Direct democracy system

(C) Indirect democracy system

(D) Dual Party system

The book titled “I Do What I Do” written by
(A) Viral V. Acharya

(B) Raghuram Rajan
(C) Manmohan Singh

1

(D) None of the above

13.

16.

17.

-~ = 3§

e i, foga@nd af TR R Prifyg
g@ﬁﬂﬁmmaﬂ‘wﬁ
sy gt rfrfam

T

(C) s w1 RHATR
(Dy I 3 & I T
o T H 294 gehel A FeA F T i -

e aem R 7
(A) 18 (B) 17

(€) 21 (D) 19
arhtEe (Srfafes) i & Iufeia T
FH-T THELHIE 7
(A) 70S

(C). 808
(5967 — 2437 — 1910) + ? = 27

(A) 60 (B) 50

(C) 65 (D) 45

T @ o, gd 3 . A HL . ISR ECE
& § @O 0T B AT A F 3o @ T
. ARHLTE. B

(A) et amrse fetieaa st fafiee

(B) et wie freegae At fafies

(©) I wde fafedn S fafiee
: (D) ATt ifse fefeaw s fafies
19. o T Soeht § e, S gERl & o R, A

Tl fasreft ag =t IR e R, fasran seeman 2 7

(A) agam‘;runﬁﬁ

(B)- & SR WOTTeA!
(G) NI ThaT Tt
(D) et ardl wonredt

20. ‘‘ond g I g AE I FA
%@%%l L
(A) T &t s
(B) TN T
(Cy 7w g
(D) I | § e &

5.

(B) 508
(D) 60S

18—

22

24

25

26,

27,
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% host inaugural FIH | aq T3y, | CMMS
t ? 0
el O oa cop 0 202 orea B g 1
21 Hocke)’5s _ (B) South (A) @ﬁﬁm EF}t"? ® s
) Indoneslﬂ (D) UAE (C) aﬂtnq B
om t is given followed 22, .
] . qestion tcmenelthe condition(s) mmﬁmﬁq (D) ;&W%
2. I thiS © nditio S'.Cﬂfos Wsﬁm%%m?mﬁm@, L
P et 1l OB e lies. Whoever o T gy g Py
L
lies SHO" ¢ . s i e
ditions rves to be imitated. L. REEE
ConC pme wise man dt%t-}gﬂ;c be imitated. I % =y
L 20 ¢ fools should T ) g g oy
g, S J (A) THrr} L k]
A LIS Ve (B) limr 3 [
o8 gy misvelid (©) 13k
BN ) 1and Marevae. o §
: ED] [ and 1T are vai (D) Iaﬂmmﬁ
the percentage of PAR capture by green 23. awmtﬁ'q Pe—
23 . "
P - 20% (B) ab% &) 10-20% B s g
- 0%
o 6% B} S~d0% (©) 80% " 5
, ( - 10%
g4, The EASE 4.0 reforms agenda’ is related with 24. EASE 4,0 TR ey’ R
(A) Global taxation rcforms (A) mm&ﬂﬁ{m}“‘- !
(B) Manufacturing sector reforms (B) fmior &g g‘em
(C) Higher judiciary reforms (C) mwﬂﬁm
(D) Public sector banks (D) Tl & &% o
25. Name the State has achieved excellency in 25.  IF T FI AN T e g i ' _
information technology. wmﬁl ' E
(A) Maharashtra (A) T, k:
(B) Ra]asthan (B] qIed™ |
(D) Karnataka (D}a‘*""ff-"Eﬁ - "
%, Ch R r
Er};l;a}hand Russia inaugurated the first 26. M ﬂtﬂm‘;ﬁq a1 -
order pipeline between their ;ﬁmiﬂﬂﬂ aﬁﬁﬁ‘ﬂ% | g
COuntries, called @t O i 1
(4) p o "n‘ @l 1 @ | @
ower of Siberia  (B) Pride of Siberia %,%! Ay T P p ¥
n, na (D) Pride of China [)B {Be % 3 L ¥
in[xtgzlldents A,B,C, D, Eand " 27. @ %H‘M ﬁﬁﬂiﬁ&ﬂ 4
the field, A A L an F are sitting ﬁ'&ﬁﬂi O caD® E
Test ar, B are from Delhi while T IV ASIN
While oth € from Bangalore Dand F tall aaﬁﬁaﬂ "ﬁ s - &
While o, 'S are gh - D and F are ta a?lﬂ‘l:ﬁ\ Bl F a5
from Otherg are boylg' A, C aqd D are glrl-s, ﬂ??a;% I " L
W ore - Which is the tall girl ») D [ ué 5
© E (B) F (C} ’ : ﬁ'-;.
‘ D) ¢
(;\ Cf l ‘ -5- 0 ‘g a2, ¥
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LYIpLy CMyg

[=
L ©° VB
@ 4w e A 2 HE =W 3y
) .] of diameter 28. @R )
. ht circular Cylmdﬂ.cal tu%gccznsltructcd # wh T i <o % P %‘T[%N 3
an gr:,lgand length 40m l-sfht; arca of the iron mE s e T H A %‘Jl
from & Shlcet o 1r£;1‘{; (A) 80T (B) 40 g
¢ rcqulfed inm°1
sheCBO ) (B] 40T (C} 160 T (D) 200 T 37
A)
[(c} i (D) 200 ™ 2. @mﬁa‘:w%a"ﬁﬁ”ﬁ“ﬁlﬁwm
iman rows 1 km in 5 minutes, 31028 Rt 1q'éﬁ6ﬁ?ﬂ£fac§rmam§mmﬁ@
29. A Do .nam and 6 km in 1 hour against the oy w2 (B L
thee::;e The speed of the stream is (A) 6 o _ 18 f%thﬁﬁ": 38
S{:] 6 kmph B) 3 kmph SR (c) 10 foft s =22 (OF"12 ffyp,
(C) 10 kmph (D) 12 kmph wl; o Wﬁaaﬁﬁ%ﬁtr{;mm%ﬂ% *
: ; k population in | 30 }
30. glc;u‘ﬁ(t)ﬁdx?;h largest livestock P | (A) T (B}t % -
(A) India (B) Australia (C) =M (D) L,
(C) China (D) USA ‘ TUIEY S
31. In which language ‘Gathasapthashathi’ was 31. T |
written ? g gl (A) ST (B e -
(A) Prakrit i : '
(C) Sanskrit (D) Brahmi (©) W (D) s
32. The type of soil used as bricks for 32, WFHSF &ﬁm ﬁ@ﬁmw%?
construction of houses is A) T B) W@
(A) Laterite (B) Alluvial | ) (B) e i fig o
(C) Black (D) Arid (C) et forsh (D) it gt
33. IORA refers to 33. TTE.3.AM.T. weifa ¥
(A) Indian Ocean Ring Association (A) Eﬁ'a'qq ANfi= mm@?
(B) Indian Ocean Rim Association ' (B) sfeam oNfir fm wwifoeem 42,
(C) Indian Ocean Rocket Association {C}}.ﬂéﬁ'ﬂﬂ EINRERICTA ]
(D) Indian Ocean Range Association (D) $femm Nfimm to Eifew c!
34. General Agreement on Tariffs and Trade 34 W@ﬂ? T : [ MNORG
. I R Tg I (GATT) FF
(GATT) renamed as World Trade O isati .
(WTO) in AR SRS gnisation % fires SR e g | 43
{fgj) ; ggg (S) 394 (A) 1995 (BY"199%
v o ), JgaF | (C) 1996 (D) 1997
- From the given answer figures, select th .
one in which the qnestion gone i AL 35. & T I ol # A, 7w AT
%? embedded, fore we o gt & ) wfea @
. e
a
(@ @/ (b) m (@) @ ) g
( [3 (d) (©) (d)
A) a % [\~
15 (a) B) d
(C) b (D) ¢ a (
© b (D) ©




AL not a state
i  followin8 ™
whicP Of? (B) Temperature
6 o ooy (D) Work
(A E:gssurﬂ from the an;k::g
(€ Pf cof polleﬁﬂogt%er fower of the s
slel, ~a
" Eﬁﬁﬁ - {B Zoogeaomf};:hese
p]&n;'(enogamgjn y D Non
lgé Ggiwﬁ“g‘ dcnSity of Iﬂdia in 2011
The pop! auor;,ersons per sq.km.
B e (B) 389
) 267 (D) 382 |
© 349 i { India intronfluced the Kisan
39. Govelrnme K cC) Schem¢€ in .
credt - (B) 199
o ;ggs (D) 2000
c . 13 .
: | « frst cyber crime police station was
Indig’s
" ot (B) Delhi
Al Bangalore .
| i (D) Mumbai
€ Chennal
2 ! itten as
in code, MERCURY’ 1s wri )
41. KUEER?;}. How is NEPTUNE’ written 1n
?
t[PEIEDNdUEPTEN (B) EUNTPEN
(C) ENUTPEN (D) ENTUPEN
4. Inplatyhelminthes the body cavity 1s
[A] Present

8 (B Occasionally absent
{5 (C) Occasionally present
(D) Absent

4. Consider the following statements about

Pradhan Mantri Kisan Samman Nidhi
Scheme.,

L It provides income support to all

landholding farmers’ families in the
country to supplement their financial
needs for procuring various inputs
"‘flﬂ.t?q to agriculture and allied

I aclivities as well as domestic needs.

: farrldcr this scheme, all landholding
ﬁnmt:r_s families shall be provided the
anflnual benefit of Rs. 12,000 per
equﬁf‘? per family payable in three

ver stallments of Rs. 4,000 each,
¥ OUr months,

1B On'll; the statement 11 is correct

(C) Byt 1€ Statement 1 is correct

36.

e
e
37.

38.

39.

40.

41.

¢ Statem orrect
None o the abo‘?:ts [and Il are €

-

42,

43.
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(C) 349 ((E)f 389
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(A) 1995
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W 1 Teal
e G R
(A) SRR B) feeh
(C) B (D) Hed

T 2 § ‘MERCURY’ # 'YRUCREN for@ 9
| SEFE T NEPTUNE’ 3 3 forer s ¢

(A) ENUPTEN (B) EUNTPEN
(C) ENUTPEN (D) ENTUPEN
@ﬁ%@‘&ﬂﬁ%ﬂﬂﬂﬁﬂ%
(A) Suferd
() Ff-oh I
©) E‘Lﬁ-ﬁ‘ﬁtﬂ'@'ﬁ
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@ A
ww%ﬁﬁq@aﬁwﬁgﬂﬁﬂ "
1. AT 12,0 W%aﬁmﬁmﬁﬁmam
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(A) aaﬁlf"a.ﬁrql*’ﬂ qat
(C) & ﬁftﬁﬁ
(D)
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CMMmg ~y %

-

% . 4 W%Wﬂﬁ"?ﬁ?ﬂ@ﬁmmi f
definition that, “THSIOY 7 o e ¥ R o 58 TRy & 4
44. Who gElWl? at::cﬁng thc‘ YOungCSt AP (A) st 4. = (B) He Wﬁ |
",lldcs Fi Lo . I”ﬁ ;
Itn}:ezc:mc a science”? (B) St. Augustine (c) F {W%M
() J. B Bury D) Arnold Toynbee pcfyo SR Rad :
(C) Karl MarX . s of 45. ' 5 5+
-oductivity is the rate Fsire T T S T 7 Py
45. Secondary pro organic matter by (A)
(&) formatich b e (B) FeTaeh 3 Sifereh 9 1 fgy
consumer : tter by
? { organic ma
(B) formation © SraEee g0 STatah gard &t fgfy
) Fmdg‘fﬁn of inorganic matter by (€ L
(C) form ! . araifers e 1 fghy
D ?ecogl?o{;-,s%f inorganic matter by (D) JuwrerdT B Eal e
orm
S i _— %mﬁgﬁwﬁmmﬁﬁm%mﬁm
46. The State which has sct_ up a“hdpp‘ c;,s AR FRHIHE giﬁa;lﬁl feran I%F‘d‘[{ HH:F‘!T%&"
’ . and organizes “Happin o &
Camps” to teach positive 5 B) :
life is S
(A) Haryana (B) :amlataka (C) TEw (D) et
dhya Pradesh (D) Kerala
(C) Madhya Pra _ . 47, o T TETENT (4.0, ) i werh 5
47. Who is the current President of Unite Y 5
GA) ? FHAE 7
Nations General Assembly (UNGA) * PN . i
(A) Narendra Modi (B) Abdulla Shahid (A) LS (B) ¥ ﬁ}hﬁé-ﬂ
(C) Kamala Harris (D) None of the above (C) e 2ft (D) 3 l_i ﬁ
48. Girish walks 8 km towards east and turns/P" 48. i @ it 3R SﬁFﬁﬁﬂﬁTh %,ﬁ;tmqama@ 56
right and walks 3 kmlgstizaight. A%z:mN he e we1d B | i T: 3¢ Gl 2 v 12 fetew
turns right and walks m straight. Now ; A ad?
how far is he from the starting point ? ST @ | 376 9 S Iiﬁgﬁ ﬁ?ﬂ D)
(A) 6 km (B) 5 km (&) 6 ot (B) 5 g
(C) 8 km (D) 10 ke (C) 8 foret (D) 10fF =
- B
49. An increase in aggregate demand over the 49. 3uersy frfa v oy win @q&-@:@:ﬁﬂ\
available output leads to a rise in the price gfg et ® | et whify e 8| 7
level. Such inflation is called A oy
(A) Credit inflation (&) ==
(B) Currency inflation (B) 'ﬂ}l’@ﬁﬁ 58
(C) Demand-pull inflation (C) HiT-wiia Thify ‘
(D) Deficit-induced inflation (D) =T-Yfa whify
50. Who invented water frame ? 50. 91 %W w1 arrfarsn fre o ?
(A) Samuel Crompton (A) AT
(B) James Watt (B) I A
(C) Richard Arkwright (©) s amdtz
(D) James Hargreaves (D) g vt ﬁ’mgﬁﬁ
51. A garrison of 750‘ men has provisions for | 51, 750 o A T S A Qomﬁmﬂr Sg_
20 weeks. If at the end of 4 weeks they are — 71 450
reinforced by 450 men, how long will the WU 8 | 9 4 g ¥ ofd W ¢ ”
remaining provision last ? ST, @ El‘r:l‘[gar[ TUIH aqqﬁaﬁm mﬁ
(A) 15 weeks (B) 10 weeks (A) 15 Twe (B) 10 «
(C) 11 weeks (D) 16 weeks (©) 11 e (D) 16
M4 \ g0 07 -8- “1Se
g L ‘ <o 6 Y
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Y = i

. key to 52. ms-ﬁﬁ 4 %
% et OBES pross— T Yo L5 ;
Mic nu.
g " nhep ™ CRII i ARSI
Fl DEA0] C) F
[JAJ (D) 3 [B} F
F3 . thrown on the ground. [ 53, =g 4
4 ysual dicC ag{ér; on the top faces of |- % Eiﬂmw Wiy D) py
53 PO ral of ﬂ‘_”nw as the top faces showed 3 B feeng m%w%
The our dic€ 18 .otively. What is the total ﬁt&w ﬁa@ﬁ : '3?“m .
these © " § 5 respectively EeTeht F: 4 Ve -
4,3 3“5 touching the ground ? Eﬁa@aﬁwq}&l Latrcy
of the 1868 (B) 13 . ") 12 LT i
(A) lg (D) Cannot be determined (€) 15 ) 13
c) 1 , . : (D
; o meter 1on8 train moving with an average S4. 126 ﬁm“r/‘fim #i )
54. ASO ] 126 ]{Iﬂ/hr Crosscs a platform n 300.:ﬁ_a_‘:a,abr 3%?[ é
sPccd st A man Crosses the same platform i o %?3 24 itgg X w =
94 seconds- . : o Gt
» 5 minutes. What1s the speed of the man in B 5 e 3 . Smm T s
meters/second ? HIE /8 3 4 5 ot 4
(A) 1.2 m/s (B) 1.8 m/s _ (A) 1.2 /3 'é}
(C) 1.5m/s (D) Cannot be determined (C) 1.5%/3 D) éfmj/ﬁ
g5, Asituationin which society no longerhas the | 55, ¥ foufy g - T o 1 ey
" support of a firm collective consciousness Wqﬁmﬁ (AR -
(C) Participation (D) Deviation (©) smam {D; ;:’;ﬁ ico]
s6. Virus, which infects th'e master boot record 56 I, H}Qﬁwm%m@m#
of a computer system, is called T T 8, T |
(A) Stealth virus (A) Red T
(B) File infecting virus (B) WI3e $761aeT a4
(C) Boot sector virus C) ¢ HIH ITH
(C) I
(D) Multipartite virus (D) Fedinee AE ?ﬁﬂ?@ "3
&
§7. Reproduction in Plasmodium is by 57. wﬂﬁﬁ?ﬂﬁw 5 ?;W‘j
(A) Multiple fusion ~ (B) Multiple fission (A) aﬁwﬁ ; f{D] Ay
(C) Simple fission (D) Simple fusion (C) HER ﬁﬁmﬂﬁsoﬁ?m?mﬁ?
A rp(Jn'kCy climbs 30 feet at the 58. wmw Mﬁ@@ﬁwﬁigﬁﬂ
?Egmmng_ of each hour and rests L R A A 8,00 %
gcg a while when he slips back S | AR @A A
I fect before he again starts « !-]ﬁfé 120 Fe
Eéxmtb}llng In the beginning of the &l & LA ,
our. If he begins his ascent L
Elt's?.?(? ahm-s at what time will he WWWW o S?;ﬁ}?ﬁr
t fgroﬁi d% flag at 120 feet from (A) 4 p.m (D) ol
4) 4 ' mo anell
6o B) 5 p.m. @ 6P™ pde®
5 Fe, (D) None of these W P tJJ' ga 0 *
" Orientagio 1 ‘ s | 8 A T
5 $ the basic layout of the slides 111 % 2] w4 ;‘1
W PesenFation. The default orientation is (A o ¢
(©) Lortrmt (B) Page size © 5
w (D) Landscape u
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60.

61.

63.

65.

66.

4

ions.

3
Which State in India is popularly known &
“God’s owTl country” ?

(B) Kerala

{A) Kashmir
(D) Himachal Pradesh

(C) Goa
refers to storing jobs in & buffer

so that CPU can be efficiently utilized.

(B) Relocating

(A) Loading
(D) Spooling

(C) Swapping
Should all the factories in the cities be

shifted to outskirts far away from the main
city ?
Arguments : Bl

I Yes, this is an essential step for %
controlling pollution in the city.
II. No, such steps will lead to a lot of

inconvenience to the employees of the
factories and their families as well,

(A) If neither [ nor II are strong
(B) If both I and II are strong
(C) If only II is strong

(D) If only I is strong

Two solenoids of equal number of turns have
their lengths and the radii in the same'\1 : 2.
The ratio of their self inductances will be

a) 1:2 B) 2:1
(o176 B D) 1<%

The part of Himalayas lying between Kali
and Satlyj rivers is known as
(A) Kumaon Himalaya
(B) Punjab Himalaya
(C) Assam Himalaya
(D) Nepal Himalaya
What is the main part of the ovule in flower
which is surrounded by two integuments ?
{A) Micropyle (B) Raphe
(C) Nucellus (D) Chalaza

are colourless transition metal

fA} rI\I‘ad-’ V4<-, V3+ I:BJ SC:“, Ti-ﬂ] an+

(c) v*, Cr*', Mn* (D) Cr%, Mn*, Mn*

CMMa N

m’{ﬂ'&ﬁl?ﬂ?-mm ‘%qa(-ﬂ

0 mmeaw Mgy R
(A) TR
(C) T

(B) 3 TR

(D) ﬁ‘?ﬁa 2
Waﬂ@wﬁmﬁ%

%mﬁ?ﬁﬁq\mmmmﬁmm%

(a) e B) Feidf

(C) e (D) wfm

62. ¥ el i R 1 7w v
Wﬂiﬁwﬁawﬁmmm? T

1 o, T Yot ¥ wguw i P
e T § | e

1. T, B8 el @ SR & et
ot ) v ) g A |

Ay IRAFDITE 1 vt &
(B) IR IA 1 M1 T=A R
(C) 32 et 11 ol &
(D) 72 Faw 1 ot &

63. TUM YuTEl H wEAr qwel 3 uiEtEd A6
;ﬂtﬂﬁmuzﬁangmﬁwﬁﬁﬂmmﬁﬁ

(A) 1:2 B) 2:1
C)1:1 (D) 1:4
64, el 3N waew Al ¥ o Ba
Temrera & s B T wEr I R
(A) FH1S: Temmemm
(B) v femrerg
(C) e femrer
(D) =t fewmerg
it
65. il i diwiie @ ger wm A A AT
Bad?
(A) WTEERITEE B
(€) =g (D) T
2l
66. —_mﬁqw%wﬂ._ﬂ
@ T Ve Ve () 5
(©) V¥, Cr, M2 (D)
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68.

69,

70.

71,



[ iverl 67.

%‘

:on 416 of cr.P.C.
gection 418 of cr.P.C.

{C)
n 419 of cr.P.C.

D) Sectio
The value of
2
(3.537-094 8)
3.537%3.537+ 0.94
(A) 2.585

(C) 4
Find the missing number.

13\(19 71Y9 123Y32
g 10 ?

&) 15 B) 10
() 20 )38
Th

¢ mean of 19 observations is 24 If mfl

megn
of the first 10 observations is 17 an
find

that of
of the last 10 observations is 2%

+(3.537+ 0.948)2 -

8x 0.948 E'glf )
n.é’ o)

(B) 4.488
D) 2

70.

71

Mahat
ma Gandhj (B) Nelson Mar

C) Bhaga s
88t Singh (D) None of the

Join Telegram Group "HaryanaJ@ﬂ?S.iﬁ"
¥

68. ﬁqﬁmﬁﬁgﬁ_mmmwm

the 11
‘L‘éﬁ 52 observation, .
) -46 ) 65
" LongWali 1 D) 37
A) Freedom” is an autobiograP™ of
de

bo\!ﬂ
At

A gy

fEnadafimd 7
{A} mﬁﬂﬁlﬂﬁwm
(B) e 4, i om 416
(o] e gt o 418
(D) e it Fam419

(3.597 o9t +[a 5798

69.
3537):3,53?

+0.048% 094
5
(A) 2585 B
o?
(c 4
@ i
13

W
ok

mgaail

IR ’zg N
WY )
0

70.

1



80.

14

78. The 0rganisms in which €mbryonal

79. Needle : Sew :: Chise] : ?

' " anaJobs.in"
Join Telegram Group "Hary \‘1& 5 B

73. Italy has a parliamentary S¥

: te
al head of the Sta
form B Emperor

(D) President

stem with the

(A) Prime Minister
(C) Chancellor

While printing the worksheet, __———

option is also used if onl_y.r a se
the worksheet is to be printed.

(A) Entire worksheet (B) Active sheet
(C) Selection (D) None of the above

75. What comes in the place of question mark ?
2,4,11,37,?
(B) 89

(A) 100
(C) 153 (D) 145

76. In this question, two statements are given
followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements : [E3Es
1. All kites are light. %5%
2. All lights are moon.

Conclusions :

L. Some moon is kite.

II. Some light is kite,

(A) Only conclusion I follows

(B) Only conclusion II follows

(C) Neither conclusion I nor JJ follows
(D) Both conclusions I and Ij follow

77. isa Memory management
scheme that allows the Processes to be
stored non‘-contiguously in memory,

(A) Virtual memory (B) Primary memory
(C) Paging (D) Fragmentation

protection and care are better in
(A) Oviparous organisms

(B) Ovian organisms

(C) Vivian organisms

(D) Viviparous organisms

(B) Amplify
(D) Carve

(A) Dig

(C) Magnify
In picture toolbar options,
command deletes outer portions of the

image.
(B) Format picture

(A) Insert picture

(C) Reset picture (D) Crop
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aly 2 (A) TR g ot
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g0 ) Latin g2. T R Fmg Dy ML
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© 9“;1 ome 7 (A) 1JPO
. s gﬁ; o, MNIE ;,’iSS . (C) 1WOP {[E])JJE;
o B " (D) 83. a'xmﬁﬁl__h______ﬁﬁ
T W Lo i a reduction 7 AL
;ﬁsﬁan T“fgs:ower oimcrs :‘:} ﬁ:{ﬁl e I I
- as -C m 311\3'3
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L'noiﬂ meé ‘ me_eamers ] D) S
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© ing inc0™” 84. SRR T Ay
Zaag :echnique makes use€ of —— FA R | Pﬂq"---jf'ﬂh
cpeltis 165 ' ‘
B g:ﬂ“mcnuc’.mo (B) Fingerprint [2) Eﬁ B) &Rz
WS ) poth (a) and (B) © D) kg s
Credt . Economics 85.. 5 3N Infwre 71 figwe &
of Modern NS \ua
nding B0 J. M. Keynes (&) Bigss
85. Fo ,ﬂﬁ'ed Marﬁhall (B) J- " pserio ©) W%ﬁ D) tes
0 1gam Smith (D) Davi ides | 86, _ = fEA w R e
| view option dis;;jlay§l all the s ea § w0 e aa N
s.ﬁ, ——_ " t_hum nails. . i (B}ﬁ'-‘;-_i T
na gt ) Slide shod view (g] f@%ﬁq p) SR
A h?rlﬂ : D) None of the above (€) s
(0 iide sorter view | o T AR S
&7, Peole taking a lot of salt or salty food |  87- S 1 o FE sda T TR
A 3 . experience water retention in tissue cells. 3 1
Y Tt 7 The resulting swelling is called . a(;i]am' i IE: E’;‘ v
%4 (1) Edema (B) Reverse 0SmMOSIS {Cl m@m ;qiaﬁqﬁﬂpi
if (C) Rancidification (D) None of these e m,;a-ﬁpa‘ .
88. Ifthe p* term of an AP is q and the q™ terms 38; o+ qjaiqﬁlm B ;:aﬂﬁ*’
® is p, the value of (p + q) term is - (A) 1 ﬁﬁf’@@ﬁ% y
id B) -1 0 7
(C) 3 FA- 3!
.o (D) None of these A |
‘ Ech of the following is not an advantage of 89 (31—{}1‘1;2"- ﬁﬁﬁﬂﬂﬁ \
» met Protocol Television (IPTV) ? ) ﬂﬁ:: ﬂaﬁﬂ’ﬂ
 Online bill paymen; g) " A {
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0
A i 1€ of the gy ﬁﬁj{a )
@ and 229 0d dg 90w
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91.

92.

93.

"]
»

95.

o

CMMS
*\
o=t W
Bnglish Languag®. el ik ey e & ST TR g g,
the i s 1
ickout the most effective vl f;oarc the 331'6’(“1% i 3@ v =R | s
P‘lccn words to fill in the blank 10 (A) e T RN et & 3 t&"ﬁ?@mﬂu
intence meaningfully complete: ch B) 5= T et B A= HIT A Y
teal
Anusha requires great d_____;.nt;ughty' © o R GIEGll 2 a1 T
and handle little children who ar Tl
(A) attitude D) ?H'Ei a aﬁﬁ EEl 1}3
(B) patience o7. ol vt 0 T & 7 h
(C) aptitude - m%ﬁﬂmﬁ H@W%@fmh
(D) knowledge O
Fill in the blank with appropriate phra sal (B) Firn 3 fore w9 & 0 gAT A5
verbs from the alternatives given below it. MEAER
I shall keep nothing from you. J ¥ Rmsa 2 Y guane |
¥ )
(A) back (B) from '@ﬁﬁ?ﬁ%ﬁT
(C) under (D) on -
(D) TH A=
Give one word substitutes for the G R T & S A1 G ST
following from the alternatives ' m——f—m N i sl
given below it. el OE HH
To isolate, to separate from others () =R
(A) segregate (B) gferer
(B) sedulous (C) Hehetd
(C) scythe (D) ¥ & =IE |
(D) scclud.cd 99. uifi,wa, aﬁtqﬁ ﬂaiﬂ'
Choose the right synonym of the given (A) T
word. J (B) Hfie
CREDENCE (C) srfarshrdy
(A) Fearful (B) Trust (D) T & =rd ey )
|
(C] Madness [D] Modest 100‘ m’ an ; f a’]ﬁﬁ ____,_.-/l
Fill in the blank with appropriate is adjectives i R |
from the alternatives given below it. (A) :;ﬁ
ERvy (B)
Five boys stood in row. &-\:‘ -
(A) either " (B) cach T
(D) few (D) ¥ | =S 7

(©) neither
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(B) S Q
(©) 3o wagary B
(D) ¥ 3 2 =
. N G 0 1 D ) s
L
ﬁ“ﬁﬁﬁ\mmp \Ewm

(ﬂ}lﬁmmmﬂmaﬁs o

(B) WA, w369 o
(C)_Hemdt 4, @mw‘ Q

5, tﬂ?{tfqmm 2 e

S sk TR (INSTC)

(A) 34, i $=rfm
(B) T & wie

(C) iR Agg
(D) e iR gemre
6. a4 1990 ¥ wof T i vhwwn FoE
15 Hiferra ot & R qgen s o 7
(A) fergantrn (B) T
(C) T (D) Witk
7. gfim i vgf wei s s d 7
(A) maﬁﬂ’m (B) = ]
o g
(C) st (D) lﬁ
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~ spo0L stands for cMMS - S5

A 5_\-mr?elric Perighcm_l Operﬁtiu
p| Simultaneous Periphe N Oy . 8 o
l On-Line ol Opers.ui"l’! " SPOOL 1 ygeg g

o e O | B v
Of-Line PHETl Opery e B) S whipren o -
() Teritfms it sirons i
1L B R B R SIEC]
g Consider the following. ptgyyy (D) Weacretrrs atcisrer wiitars A -TE
Ayushman Bharat Yojang LT

9. SR g drm % i # Frefefa weA T

o ifere |

I Ayushman Bharat Yojang alsg

known as the Pradhap, anty .
Jan Arogya Yojana (PM L. SR e o w1 gy W A
is a scheme that aimg to‘;\;]'l' A (o 3 e, o e B, SfdE E‘Jﬂ
economically vulneraple p Wmﬁﬁﬁﬁmmﬁtﬂﬂf?%m
who need h .4 e e gfern ) e E |

1 e 4 1. dr 5 FH
The scheme provides R, 5 lakh - A e i = e 5. 5 @@

) coverage to every family per year, mm% |

(%) Only the statement 1 js correct A) ¥ae T 11w

(B] Only : N

|C:| Unly the statement | is correct (B) Fae w3 -

I} Both the statements Land 11 ae (C) FHATHN 11 2t ;{‘%

[0} None of the above == s e

D)/ 390 H & wrd 3

i men can com

plete i y
12 days, How m ooe mak i 10, (0T o R 12 fo B a8 | 8 R

any additional men will be

;2:?:: o complete doubje the work in, L g mﬁ‘;ﬂm & foru forry aifafem et i
() 14 ‘
. (B) 21 (A) 14 :
(C) 2 B) 2
; Whj.: (D) 7 (©) 28 ;D; 71 2
' Is the capital of 11. ¢
Mahajan:pagy o Matays 1. TR RIS ) el o A 7 V
(A] Vi (A) faeam &
Q v“‘&tanagam (B) Mathura (B) 7y \ #
g o aranagj (D) Kausambi (C) Fron (D) Wi
2 ich of the followin o i for Sarosis 12, fimdgy F-m 3
{F:}mi)::}te ﬁ'u.it]o';vmg is example for e wniftrm {mfﬁzw) TR 7
¢ B) Pear (B) Arerare
- ©) Mang,, {{Df Jackfruit (C) 3m [D: X
:‘:;'I':dlﬂr the fouumng is the Umq‘d Natons 13. ﬁqﬁ“mﬂ amﬁmw "
Pt gencyfor Heath Rl e 4 7 Wi g
 World Health Organization (WHO W) R e iy (T 5
" Center for Disease Control (CPC) ® ﬂum%% (et a'(.ﬂ ]
] *00d and Drug Administration ™Y |8 (©) B sty gy (Ré )
" Nﬂ * .q_
e b O 208 |
Ty P B @
l.‘i ."h I/ ‘t‘
- =B )
* o & i )= 1+ L g
: 4{, xL < JIA%
| | e ,L-‘—



15.

16.

17.

20.

2,

putton to find the first
[ the data
(B) Find What

(D) None of the above
i ____-“is used to create

i M MUj’gru_u_p mailing.
(B) Envelopes

(D) Labels

qddress for a
(Al Directory

[l Letters
& introduced i China in

(C) I{I?BK (D} 1983

. total number of students studying in
Ih:trli‘:.nzl is 10396. The ratio of the total
I;LI!]I]J(‘]' of girls to the total n_umbcr of.bo_ys
studying in the school is 52 : (?] rc:spcct_rv::l:y_
What is the total number of girls studying in

the school ?

(Al 5216 (B) 5612

) 4874 (D) 4784

The second largest country in the world in
arcas 1s

[A) USA (B} Canada

IC) Russia (D} China

H67j, m71Q, V73b, i79Q, 2
(A) 283, (B) A87b
IC} y8a1 (D) 283

The poilice hasg hierarchica]

t \ véri
the police constahle an thes ructure, with

at

Perintenden; of Police

(D) pj
) Director Generg) of Police
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T qEen srfEred SEA & T LEs
W s =t | -
(A) wrz-2 J=ae (
(C) wIgme &2 (D) 3§ B
Aol =1 FEPT OF TR e
% forw vt a3 Fovg gren 2 1 -
(A) st (B) gRerH B
(C) wraddf (D) serew { 5%
g anflergur Ao g
(A) 1991 (B) 1978
[C] 1988 (D) 1985

U T H gt et BT Sh el HET 10396 % | wgm
B 0wl ergfandl i et e @1 I wER A
FIHE A F991: 52 : 61 B | TheT H 97 W wrshi)
N gel dem w2 7

(A) 5216 (B) 5612

(C] 4874 (D) 4784
IR & e g wad v e R b 7
(CVER:A (B) ==ret

© ® (D) <=
Hﬁ,_?jr:hz_la V73, i70Q,7

(&) 283 (B) A87b

(C) y83I (D) Zz83;j
e ) O T g 2
WA F 3 SR W gfery H?m

B E

(A) gfers Sarefiaas

(B) Frliers

(C) gfeFa artfterss

(D) gfer TETFReTes
i fefreet yprem % warfg frafafm
ﬁﬁﬁwuﬁhmmﬁmﬂmﬁ?ﬁm

(4) 3T we=T wfRfy

(B) T fierwfor wfirfy

(€) g wfify

(D) I & {7

a3l S T gl @

() wfer (B) wrawdg

C) -
( LZD‘!I i ¢ 2
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| Ry oqu‘}c—ﬁf L€ _‘165
% 4;;9 77 cmms-5°
fcarbon fixation appre,: a
" The f;;::eoannually through thz’:mﬂtely 23, s weew ) v F A g aftie &
F ::;;ws}rnthﬂﬁ im 3 o Sare § e A fEHECT o &
O&' ‘-I . 10° k& [E: : x 109 (A) 4 x 10 kg @ 4x 10 0 kR
|[IC|| 4% 107 kE { x lﬂlnkg (©) 4 x 107 ke (D] 4% 10
- hest pCBk of Penjnsu].ar p]ateau b ) s
# Thfl;ﬁabelm (B) Anaimugdj 24, VRN TR 6 EH iﬁﬁﬁf 2 . il
M0 onda (D) Mullayyanagi; () i ) it
) AT P (C) s o] o AwT
Keeper carns a profit of 12% on ge; P i AT il
5 A;:a”;’ ot 10% discount on the printed pn':: L@ :aﬁﬂﬁﬁm ﬁﬁ:: ﬂéf:m 3 amgﬁaﬂ‘f&m
u] " atio of the cost price and the printed T 12% * W% :
_.Tl._ e book 18 aﬂ(g&az@qmmw ! ”
sl rice of th gy 45
i price = (B) 45:51 (A) 47 : 56 (B
L (C) 45 : 56 (0) 4'mﬁg&m
1o the Wacker process, the oxidation of 26. At shEa i g a__ I
1. .[h'.'nf w018 catalysed by PdCL, PdCl,E‘ITTB?W etk s
o B) Eth oA (B
o] Ethene (B) Ethanone () ¥4 o) ¥
C) W ol
G Euinel " il e A
puring settlement Process, the transaction | 37, P IREN gﬁéﬁﬁwwm% i
g rqu],ds are deposited into your primary bank i mﬂai‘gﬂﬁﬁ
éccnuni with __—— hours. w 502
B 2
(4 5 hours { .
(Bl 2 hours (€ 48@3‘ :#fﬁ'ﬁ
() More than 48 hours (D) 24 48 o
(D) 24 to 48 hours ﬁaﬁq-mﬁaﬁﬁmﬂﬂﬁm
i of th following i8 & 0% et | %% gt ?
%, Which 0 : . <
cause of loss of biodiversity ?mﬁon 5 (A) ¥ w3
() Habitat 1085 prid FragFmes Eﬁ }ﬁ} g ST ST
(B) Ca-extll'lct?On_ = D) ”
(€) Alien species 0 3 amd e v o {fe
[p) Over-exploltatio® u]wamﬁwff“ e mmr(m.t{.m v s o @
B In Hamna,rc&R—lndiaﬂ Agnc in 3 (B) HEwn &
ol oentre o p) T
Institute (IARI) Region B Mohal () feam gl (D)
(€} Hisar © s ;Ei 26, 30, 33,
19,2382 ==
W Complete the series. (A) 39 (B) 37
19,23, 26, 30, 33, ? o 9 (©) 31 (D) 35
) 39 O - oy, wed e H A
(¢ 31 = A £
s’ i T e
U Who wrote “Satyarthﬂ Pr (2:' it h
4] Annie Besant ( : 18 ma*‘“
B) Rajaram Mohan RY ) T o
(C) Swami Vive " 5 14 L M8
(D) Dayananda Saraswé .7L ?/\\ 3 <
0
| *a
" \5'551( \\ ﬁ . [,go'l | &
= N (ﬂ\f ﬁ 11_ | i

/

AW
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37.

38.

39.
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40

41.
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Environmental enterg pathy affects

(A) Respiratory system (B) Spleen
(C) Intestine (D) Liver

The electrolyte of mercury cel] j5 a paste of
(A) HgO and Carbon

(B) KOH and Hgo
(C) NaOH and HgO (D) KOH and zno
Who is the present “Permanent
Representative and Ambassador of
India to the United Nations” ?
(A) Nirupam Sen
(B) Sneha Dubey
(C) Devyani Khobragade
(D) None of the above

Which of the following is a macroeconomic
variable ?

(A) Price of a good B35E
(B) Firm output R
(C) Individual demand alt]
(D) Aggregate demand

Charles Horton Cooley coined the term
‘Primary Group’ in his book

‘Social Organisation’ in the year

(A) 1908 (B) 1909

(C) 1906 (D) 1907

Which of the following is not a member ¢fUnited
Nations Human Rights Council (UNHRC) ?

(B) China

(D) Pakistan

(A) France
(C) USA
Biogas do not generate the gas

(B) Hydrogen
(D) Carbon dioxide

(A) Nitrogen
(C) Methane

The heating element of an electric iron is made
up of
(A) Aluminium

(B) Iron
{(.} Copper

(D) Nichrome

Ornithclcgy : Birds ::
(A) Heart
(C) Kidney

Cardiology : ?

(B) Brain

(D) Bones
'_Th“" maximum number of elected members
In Lok Sabha is
(A) 545

(B) 238
(C) 543

(D) 542 .
.er {’

2%

|l -

\,\ }\’3 \"‘, -6-

32,

33,

34,

35,

36,

37.

38.

39.

41.

it s EQLWM%'

(A) yags yorrelt il (B) il

() s ) T

W Wt 7 forgd L fagron 2 |

g 3t HegO

(A) HgO 3fr (B) KO

(C) NaOH 3 g0 . (D) KOH 1 Znoam
Taw § wgd @A T * Pﬁﬁﬁ\uﬁlﬁﬂ
T HA 2 \/ =,

(A) Feam a7 S

(B) ﬁﬁfgﬂ C

(C) Zarrht )

(D) wade & 8

e GasR-mel

(A) T IE FT

) wif

(€

(D) |
e T P S e e S #
".mlﬁﬁﬁ ' H&T@T% ?

[A) 1908 '\l [B} 1909

J (D) 1907

ﬁaaih 1 TR I T TS,
Frafe (.00 AHL) T F TeR T 8 7

(A) FTE (B) =7

(C) ATE.T, (D) e

aaie A 3w i |

(A) TGS (B) FTRgISH

(C) Hdr (D) e STEATHATEE
A IAE FIEATE _ F SR |
() T (B) wiren

() dfar (D) gk

et fogm - veft :: wea fagm : ?

() T (B) wferss

() 7 (D) &feat

< & Fraffer W ) stfran s
7e!

(A) 545 (B) 238

(C) 543 (D) 542
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ex officio Chairperson of the Mg
netﬂry

The : :

I polic ommittec is a2

A peputy Governor of RBI i
8 Governor of RBI Es
© Finance Minister
D) None of the above
an aray of roles attached t -

s 5[&.‘[11-5 0 a particular 43.

A) Role performance (B} Role set
nfli
() Role cO ict (D) Role strain

. find the odd one out :

29,5711 1317 o
A7 (B) 13
) 2 (D) 11

45. The magnitude of earthquake is measured 45.
through
(A) Barograph (B) Richter scale
(€ Seismograph (D) Gutman scale

46. The complex weather system that appears 46.
once every three to seven years, bringing
drought, floods and other weather extremes
{0 different parts of the world
(A) La-ninja (8) La-salva
(C) EI-Nino (D) El-salv&

47. is basically @ type of part of website 4%
maintained by a° individual with reglli*;’
entries of news o7 some C“::’(;uglfls’
description © events, sonal '

and so-01. pannel

B (W blos (B ebsit
(C) web page (D)
hmcthccumb“ %

48, The La Palmé [slands: w o the first time
Vieja volcan? has cwphf:ch of the followt
in 50 years, 18 apartof W :
countries 7 B) chile
[A] Italy ‘D] Spﬂ-‘-rl 49
(C) Cuba igato” cmsell .

: i

4, Data collected by the inves
(A) Secondary da
(B) Primary daté
() Quantitati’® datd
(D] Qualitati¥® dat® 2N

9 \ q../ _»
n A
v 4

CMMS - S5
e A @R 3 02 e e &
(A) a3, ¥ 39 TR
(B) a3, F T
(€) fm =t
(D) I & @ = 7
o e e @ g e A E
(A) ‘lﬁiﬁgﬂh (B) ‘ﬂﬂﬁz
(C) e wd (D) it T
ﬁiaﬁmﬂuﬁ’rﬁm
2,3,5,7,11,13, 17
a7 (B) 13
(€ 2 (D) 11
@wﬁ:ﬂamﬁsaﬂswmwa?
(A) SRS B) e &
(c) T (D) e e

qﬁammﬁlnmﬂmmﬁ@w
mtﬁﬁm%ﬁﬁiﬂdﬁw,mmm

mfﬁrﬁﬁwadmﬂ!
(B) EN-FI

(a) wn-fsn

(€) .- (D) TE-TR

___uﬁﬂﬂwﬁmsaﬁ:mgmﬁm

P ,ﬂﬁlﬂﬂﬁiﬂaﬁt

a7 @ @Al £ frafia ofafedt & @4

aﬁiﬁﬂﬂ'ﬁiﬂmﬂﬁmmﬁmh

(A) w0 (B) =

(c) A& (D)

mwm,ﬂlsoaiﬁwwhmﬁﬁm

mﬂmwt.ﬁnﬁfhﬂﬂﬁnéﬂm

framd?

(A) v (B) Rt

(c) T (D) &

e wr e G FtER £

(A) Refraw wted

(B) g sted c

© wrTee st

g qm\'l N
r / /
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natis the term of (e S0 0. S s faursen (e % e i
o representatives :f wnlflb?;] 5 F FriI A g R ?
I’ Sse T
yidhan Sabha ( (B) 4 years & G B) 47
(A) & }’carz (D) None of the above (©) 5 D) vt B A
(C) 5year o :
i ol 51. o g i ) 7 8 e #
{ of water by diffusion is ca 2 Sl
51 niwg;:d;’sis (B) Osmosis (A) e (B) ST
:C: Osmokoilosis (D) Osidosis (C) e (D) 3 !:
nich of the {ollowing consists 52. Fimfufien § & e v Wi £ 7
82 Terms of credit ? - (A) TR SR SRR o ST
(A} Collateral and documentalion .
requirement (B] =i &
|B) Interest rate (C) vt =1 I
(C} The mode of repayment (D) Fui a
(D) All the above 5 i
; 53. _
53. Sleeping sickness 18 caused;)fmmﬂeba i (B) Gesda
(A} Trypanosoma (B) En . @ g () FfE
(C) Plasmodium (D) Paramoec N qrisa k i
11 u to view the 54, D I T T ;:w%g =
54, o allows yo . , |
presentation file on a computer that does o iaaTse FEIE i
not have the PowerPoint in_stalled. _ (A) T HATIE (B) a
(A) Page layout  (B) Print preview () B, 4. (D) v H AT
(C) Package for CD (D) None of the aboy® o e e it A
‘ 55. is a way of showing theumain [ 85 7 s e & s @ e @
memory of a computer system tolappear B e P
‘ effectively larger than it really js. o A
|A) Logical memory :BI 7 2 %
(B) Main memory () T JEr
(C) Virtual memory D) ﬁﬁlﬁm
(D) Physical memory . & : T fim A
§6. _  provides Gradient, Texture, 5e. '_'"';m% |
Pattern or Picture effects to the slide. mﬁﬁi ; (B) el T
{A) Fill effects (B] Color effects (A) & (D) i Fed P
(C) Automatic (D) More colors (1 wom & AT o 1 W R E::
57. ____ is a program or portion of a program s ﬁ%ﬁﬁ@ S it #1 T
which lies dorment until a specific part of gqﬂﬂﬁmm | |
program logic is activated. < B gl .
(A) Logic bomb (B) Worms (* S B (D) FEE
(C) Torjan horses (D) Virus © W —— mﬁaqd*ﬂa
5 it JafaTn EleEie "
8. What percentage of the carth’s land area | 58 fran st & 7
:) c‘:;md by all biodiversity hotspots put gaH (B) 50%
(-
Bether ? (A) 2% D) 10%
(A) 2% B| 50% (
(©) 60% f oo (©) 60%
o (D) 10%
M8
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i ]-eprescnted by
i
x

s
# | 8t -=
T___L;J-(l.'-‘b 2

]whc‘.re X andy are i

sand t in seconds. The frequency of
etr

:.1[, wave is
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59, U wm A y=0‘4c03[8t—%]§m3ﬂh1

W Y el x oy W, H o e H R | @A

safn g

6
a2 (B), s : @ 3¢ B 28"
L a8 A L e
8 .
@ 1 M) S8 © 240 o) Ss
; w
¢ Wich of Te following Polysaccharide magec 60. Frafafaa & & FH-m werEe W gm
py plants Tl % ?
i Lactose (B) Ribose (A) ST (B) Tz
@ Starch (D) Maltose (€) = (D) weerE
e Mo g | 1 et 0 281 8 1 & et
i mbers is and 1 1 i
the average of the last two numbers is 178.5. e ?80% e = B i
What 1s the third number ? G % ? Lo
) 228 (B) 336 (A) 228 (B) 336 a
(c} 488 (D) 464 (C) 488 \ \, (D) 464 Q =
. OONNT B W g
i ”TB_’ UQD, SMG, QHK, ? Zﬂ- WTB, UQD, smgq, QHK,?
) PBQ (8) OBP (4) PBQ (B) OBP
0 ocp (D) OBQ Wocp (D) OBQ
% The British established three Hi 3) o R
5 gh Courts 63/) st ER G i TEef]
MIndia for the first time in 9T Y 7 T "
W Bombay, Madras, Delhi F (A) 2, 2m, foeey
:E: Pune, Calcutta, Madras (B) I, Ferehan, wapg m‘%
. Calcutta, Bombay, Madras (C) =, ey, Ly ol ‘&
| Caleutta, Bombay, Delhi (D) ST, 2, feey
A,
Radha schoal bus is facing north when - Wﬁﬁgammm TR 3R
e reaches her school, After starting from KiSEiEd 1T 3 %;‘aag 0
I ] i q-{
qadhils house, it turns right i€ i . m%aﬁ'?ﬁgaw
. t M T gy
thep left before reaching the school. Wha R WE@I | mﬁ
Hirey it left the ey b ey
; "eetion was the bus facing whe" k¥ R Y Ty %“% ™
4]
g 5l0p 11'!. f!'Unt of Radhars hgusc ? q“ H@ fﬁ ,ﬁ
. (&) 2oy wi
South (B) West (B) Ry
©) Bagy (D) North 9w e
: ©) 1
b w© )
. . | 0\ 5 8
\\ 5 Q/g’\ S o by o
5 | = W Mg
] ;\ s
& b = n o2l \"\




b

65.

66.

67.

Mg

Join Telegram Group "HaryanaJobs.in"

is qm:sLiOn is based on the given alphabet
Thi:
;BCDEF‘GHIJKLMNQPQRSTU
VWXY Z | _
If every alternate letter starting from B is
delcte& from the given alphabet, which of

the following will be the ten th letter from the

ight end ?
W e o
¢ R

A is older than B but younger than C.
D is vounger than E but older than A. If C is
vouﬁgcr than D, who is the oldest of all ?

" A (B) E PR
(C) D (D) C i

The difference of the ages of Rohit and Axar
is 12 yr. The ratio of their ages is 3 : 5. The

age of Axar is
(A) 28 yr. (B) 30 yr.
(C) 32 yr. (D) 24 yr.

Rajiv Gandhi Khel Ratna Award was
renamed as

(A) National Sport Award

(B} Bharat Khel Puraskar

(€] Major Dhyan Chand Award

(D) Pradhanmantri Khel Award

A p‘arallclngram is cut by two sets, of"

m lines parallel to its sides. Theé-number of
parallelograms thus formed ds.

_[M (*1C,)? (By=c,)?

©) (e, (D) None of these

In August 2020, which of the following has
recc:v‘ed clearance from UIDAI to carry out
e-KYC authentication using Aadhaar P

W cost (B) NSDL
Cr
G Rere (D) Info Edge

8friends M, N, g, i

around a circyjay ta1 T.K,Pand Y are sitting(

left of p, whe i:r bt::;_.le B ‘;’Ih‘i“h: Bis second
€N H and T, Y is not

OPposite of p K z
etween Tan:i K.m third left of B and N ig

Who is betyee
T
A) p Mand N ?
© Kk [(BI' Y
D) B

-10-

N0

65,

66.

67.

69,
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T o qorferti vt i & -

ABCDEFGHIJKLMNOPQRSTy
,YW§Y§PE R wRA o ok o o
R Ry 31 @ B R sy B AT YA Twy
T a1 o e, 2 =g wie A @ =0 @A 7

A Q (B) P :E%E
©a (D) D ~

ABdTEITg CAB2 | D, EASIWGAD
TWRIgRC, p AT R, AR FJTFARE ?

(A) A (B E
(€) D (D) C

Ufew i sraae ) 99 o1 3w 12 99 2 | 39 am
F IR 3 ;5§ | SR i 9w e 2 7

(A) 28 af (B) 304

[ep3z = (D) 24 74

Tofta i Sere o= W AR Hd
frnmng |

() T @ rard

(B) T Wt GLEHT

(C) B e srEre

(D) WL @ sErd

T g ST w Iwh wenell F @Wil m
%@T#%ﬁu{éﬁmwﬁlsﬂmaﬂaﬁ

FHI i g
(a) (='C,)? (B) (mC,)?
(C) (=2C,)? (D) 57 & =r§ e

3T 2020 &, Fraferfien § & 6 sum o 3wl
wF §-FAHH. (e-KYC) yamfimmr w1 ¥ f
7.3 403, # gt e @ 7

(a) #t.fh (B) w.ua 2 um,

) WARMAH. (D) sHaw

82W M, N,B, H, T, K, P 31 Y U geram 29w
F=nl i 43 & ol B, P At aiw @ g 2
frHARTHAHR 1Y, P a2, k B
afddmnt ok N, Tl K FAFY
MatNFdfEdamE?
() P

(C) K

1117

B) Y
(D) B
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=" a‘_""ﬂ“ﬁ}?ﬁ?ﬂm:_____%ms:gﬁrél
(A} EHETFRF
(B) e F1h
(C) TR =HH
(D) 9 =R
L Wiﬂﬂﬂﬂﬂﬁwmmﬂmqﬁ.aﬂj |
wfifyamg ? |
(A) & Wefe . A |
(B) A ER 1
(C) whsiT- |
(D) Fqiraa & 8§ g el - |
1V 7a) 15w o e A g €1 |
N i 10w fm A s 7
1
(A) 3;1 (B) 45
2’\
2 (D) ;;_,3_‘. ’
: i e A T 729
o O Y o e @ A A
" ﬂ?ﬁmﬁﬁwmﬁﬁmﬁgﬁ |
U g T S ¢
(A) 294 (B) 176
(C) 196 (D) 312
76. 0.8697 + 0.249 +0.09 + 0.9 = 2
(A) 0.8964 (B) 2.1087
(C) 0.89559 (D) il Q= A
7 q@aﬁﬁémﬁaﬁ%aﬁmaﬁﬁmm
77. ) afe a aftoms ey fiofa & 39 1 3 e
____._-——-—mWﬂ%I i
ll.A} B@m beae [.'" g:(ﬁ': r.':‘ ;\L
B) 9 g
f[C: nfora woT C-Q (Q s 3
(D) aifra v “_ G I
78 qAERARE @i € | o V )
. 3D
(a) wrEhe = B AL
(€ Feact (D) 3am ¥m
y Ma
s
>
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in the English alphabet
{fyou count 21 letter in S . » y
o l'rgm end and 20 letters from the begm{-ung, ::;‘ 39 3fih quinrer & o7 A 21 AR ﬁ:m
which letter will exactly appear in the middle 3 ﬁfiaam & 8 20 vrer ) ) 1 &, W v
of the sequence thus formed ? TN % e ity § sl —TT STETT MU 7
(A) K !'g: 5 " k (B) M
N ) n D) L
i 6 m and diameter
g0. A copper wire of length 3 . i '
9 mm is melted to form a sphere. The radius Sﬁlﬂam 31 2 fnft = A1t 7@ F AR A
of the sphere (in cm) is (i 5 ;ﬁrﬁmmm%”ﬂ%ﬁﬁm
() 2.5 5 R (A) 2)5 B) 4
(€ 35 o3 (© 35 :D} 3
81, The President of India can be impeached 81, ‘mmﬁ : 373;,3-4
by the Parliament under Article . bbb a ¥
- AT A HeRal g 7
(&) 52 (B 61 R () 52 % B) 61
) 54 (D) 55 iR (C) 54 {[D: s5
82. Ravish saw the advertisement of Samsung | 82, wiy e Harder w1 g T | 39 AR
mobile. He placed an order and it was - |
delivered to him 21 days after he saw it ﬂﬂuﬂmﬁmaﬂtagaﬂm ﬁ:ﬁﬁﬁg‘éﬁ'ﬁlw
online.‘He placed the order 10 days before 3 ST T o | 36 6 I%E T A |
he recelwed the mobile, which was Monday. wﬁqqgﬁw:ﬂ R R o | fora ot wam
On which day of the week did Ravish see the o1 | et 3 W 3 o R e dmn o 7
advertisement ?
(A) Friday (B) Tuesday W B) *
(C) Thursday (D) Wednesday (C) Team (D) g9aR
83. Find the missing t . i i
}1 o o asg erm of the following series : | 83, R wen % qwr v %1 3ra it |
| JBB - 100, 95, 90, 85,
/ (4) 92 B) 70 :
; (B) (A) 92 (B) 70
75
(D) 80 (C) 75 (D) 80
84. Select the correct mirror im f i & 7 amfar Tl
figure when the mirror § i lhc given 84. = Fﬁﬁﬁﬁﬁﬁmfﬁm wan
by is placed at line AB, AB 9@ [T & |
NI T A -
4 i -’.,_.'.:1»
(A) < (B)
(D)
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L8

pbet 15 as much greater than 21 ag jg

ur g
A g1, The number is

Jes# Lo

46 iB) 49

PE D 41

o font of @ camera, Mr. X is sliting to the

i of 1hat Fman, whe 15 at the centre of |~/
e v, Bt Mr. X is to the right of Mr. Y

e P15 10 the right of Mr. Z and Mr. R is
e right of Mr. P. Mr. R is second from the
g, sitng at the centre. Who is sitting at
e centre of the row 3

(B} Mr.¥Y
(D) Mr.R

W Mr-Z
o) M. X

R _lawis related to domain names,
et tags, TITTOTING, framing, linking ctc.

87.

1A Trademark (B) Software

|C) Patent |D) Copyright

If in & certain code, '‘BROMINE' is written BE.

45 ®TCRHPJ', then how will 'RADICAL' be
written in that code 2
|4 GCSNCOD
[B) GCSNOCD
|6} BSCNOCD

The LG.M. of [x + 2 %3 g) and
= 12) is

M e+ 2) (-2
B o 2flx- 2 x- 6
(6) e+ 2) - 28
D fx+2) pe=2) bc - 6

pich day
27 Jamary 1996 is 8 SA7E e

>
f the weelc will b 15 Octabe! JFRRr!
) Sunday () Saurt®
IC) Monday © uesd?

89.

0.
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ﬁd@mlﬁaﬁélaﬁ%ﬁﬁﬂ?lﬁaﬁtl
w B
() 46
) 32

(B) 49

o) 41
bﬂ%m‘-‘rmxmnﬁhtﬂﬂiaﬁdﬁ%
iz 2%, 9@ Mr xMr, YRR | Mr. PMr.Z
#mﬁmMr.RMr.P%ﬂﬁla‘;iﬁwﬁ
ﬂ{aﬂMr.RElﬁ%ﬁhﬁaﬁ?ﬁ%?

(B) Mr. Y
(D) Mr.R

_.__a’fn‘rhw.ﬁatn, femfin, i,
Fiem ot @ AR R |
() TEATE

()

(B) wiwT
(D} FHOEE

o 2 7 At ‘BROMINE' # 'RTCRHPJ foran
Sm 3, @ =g § RADICAL' 3 Tren e 7

(A GOSNCOD
- &

(B) GCSNOCD L i
-« \ :f_r e
(C) GSCNOCD AR RS
5 mor 2
|0j GCNSOCD elts L~
et

P
(k2P x=2) o gt — e - 12) TR
warrE &

sl
(Al et 2 e~ 2 M 2, ."I .?:n t\;l
[B) e+ 2 (k=2 (x- 0 R
(©) s+ 2) b= 2 . B
O x+2) k-2 k-8 .

AL
oft 27 FAE0 1996 wnﬁmt.a’nsm "B
lg%ﬁmmm-mﬁﬂ?w? P,

1) AR oo 3-8
(o) d (D) R
LT M8
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91.

uglish Langusge_

iven idioms followed by four alternative
e

gs, marked (Al (B {C) and (D).

meann i :
one which you think is the most

Mark fhe

ppproprate.

7 bury the hatchet

(A} to purchase something without
discretion

(Bj to act ina su spicious manner

(C} 1o make peace
{0} to have found & treasure

g2. Fill in the blank with appropriate form of the

verb from the alternatives given below it ;

The sun ___ by day and the moon: by
night.
[Al-Shining

IC} Shines

(B] Shined
i} Shone

Fill in the blank with appropriate words
for cries of different creatures from the

aliernatives given below it

Lambs =& $
(A} ek (B] buzz $$
C) blest (D} bray

&1 the blank with suitable articles from
e alternatives given Below it ;

Join Telegram Group "HaryanaJobs.in"
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fodt wmy
6. ‘TagwET ez e e 3
(A} Tt ot g
B) 97 4 7=y
iﬁ}ﬂﬂﬁﬁl
(D) i 5 77
97. W, W, v st F = # sk
aWE| |
(A) it
(B) fazuh
() s
(D) fersrhh

g

98, for vt & ¥ae v f St v 6 Fim R g,
Tt e e |
(A} S A

b

& (€ FE

}é& (D) ¥ & =g 7t

99. FrRv=Eiwmvsd i s d, 3 5
wrEemd § |
(A) e

He slew ovenat . blowa

|E] gk

9'5‘\1 ':.-I.r..1'_l'_|5|_l- LLH:.' Tl

word given § ;. .

Bllerray
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:'.‘Bt?nking Potlicy e 2 S Ha 4T A R S o fifte
justing monetary TitE W T
bl sraR RN o sy Afa 3 mﬁaafl? A %Tﬁ T
%% (A) TEEhI = &R B
/(Bﬁuﬁﬁr REiezy
(C) gEwhifar =1 drs e
(D) 3T 5 | w8 T
i 18 the feature of A e i e R 2 7
(B) Hemi-chordata, (A) FiE (B) FHi-=idn
(D) Dermata eyt (D) T
)20’ was recently A i fearad 2020’ B/ & § fras g
_ _ EEANGREDIR o) I
L (A) T 1 TR T3
aphic Survey of India (B) Yue et @ o1Ts 3
Survey of India (C) v it aeqoy ke
Survey of India vt et ey et
M AR 1
I s ey vz R 7
ST
(g} HEIZG Ay HIFZG (B) HEIZG
(D) HFIZG C} HFZIG ABT HFIZG
::;:ssg;s the types - Pl e g e (seRd) v TR R
(B) Samara (A) Taferm (et (B) 89T
(D) Achene ,13‘/ G (D) =1
9,48, 51, 63, 75, 83, x and ,5/ af a9, 48, 51, 63, 75, 83, x 3 69 = ahad
: value of x is 60 8, M x 1 WA Framn & 7
{‘g’ g? (A) 50 (B) 53
) jgf’sz (D) 51
sulphur are o Aefifiem sfn aewm g1
(B) Macro nutrients (A) 9T T (B) &= WF q
nts (D) Organic matters _(C) |59 qia ae By Sfa yard
1 tragedy is the result of the ”31’ 1984 @ siaret Trad) e sl T
i& chemical called ¥ fooma w1 aform @
ranate {B) Ethylenc oxide ,,,!M"ﬁm sgEaEe (B) ufue sfwaEs
cilate (D) None of the above (C) Trwge Gfafusiz (D) qitaa § @ wrf T
ST Eeetk| o S wp iR
. C q "‘
: right of C. Who sits on the ﬂ:;EB%mmC%m BRI
(B} CandE (#) D SfE By & W g
{DI ﬁiiﬂdﬁ (%Ciﬁtb {D:' AWB
-2
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:d to select at most
tion of (2n + 1) books. If
; in which he can sclect

B) 6
D) 4

ences given in the Code
ire under
(B} Section 4872

(D) 1Schedule

ted to

et financing

2t financing

as financing

t financing

itions of the same

Select the letter
1¢ face opposite to

N
B) M

D
i
(D) W

is the scheme that shall
um - long term debt financing
estment in viable projects for
management infrastructure
lity farming assets through
:ntion and financial support.

onetary Fund

ind

yre Infrastructure Fund

»

.4

“'/u-/ (A) e e Ff

art P
7w R O g e
The S &, e o fors 7 R ma @ | 56 WORIE

.
CMMS - 85

wF O A (20 + 1) T E ‘Tﬂﬁ‘*‘ﬁ‘lﬁ'ﬁ"‘l
e 5 o st 2 17 e g
mmmﬁ%@aaﬁﬁﬁ#@nm?.ﬁgﬁ# -
(A) 5 D) & ‘

(C) 3 BT 4
s de wtFm e d ki
1 arfi Ry R |
oy e g

(C) |7 320

wrefify geErh @

(B) U 482
(D) el ST

(B) G awie faeiad
Waﬁiﬁﬁﬂm
(D) Wiz e fareeE
3 a2 firm feafvd zfé i ¥ 1 9@ e IR
St N ¥ frfd werw W ET |
O
N

E
W

/ME

€ O

Q M

(B M
(o) W

_)-4-/ v A @ S i
frdra we@m & mes d qy
g SneToE G S I i
% fo wra il § R ¥ O
em -ty wm fadma g I
T, |

(A) s e fafe

(B) v um e, Fifw

(C) Ff amuroq wem

)
eniers & mﬂg;nl:ﬁc ficld at right B i ‘“-a; waad Fim
. as shown in the figure. o
force acting on the €lectron ¥ wer o fzm £
—t
— > )
:3 Magnetic field 4 e
= - S
lron ma‘m L Se
, fight (B) Into the page % (A) ;
fthe page @) T° the left (C) T & T (D) urd 3




Join Telegrarﬁ-éroup "Haryana:JBbs.in"

amber whose fifth part increased by_§ is
al to its fourth part diminished by 5, is

| 200 (B) 220
) 160 (D) 180

ic annual net primary productivity of the
hole biosphere is

A} 170 million Lons

{B) 115 billion tons
€} 180 billion tons

(D} 170 billion tons

The thermal decom

CMMS - 85

w./qasfr@nmrﬁaﬁmﬁ S &
v S AFH S wra k, 7w d

(A) 200 (B) 220
~(©) 160 {D}-180

e g, wH

AT w0 Seise ) e et s s &

A 170 fafers

position of HI on gold

surface iz ap example of _ ~ grder
reaction, .

(A} n* {B) Second

IC)y Zero (D} First

Which of these are examples of man-made
eCosystem ?

1A} Wetlangd (B) Forest

IC) Crop ficld 1)) Estuary

If 2 number i multiplied by

‘thrcr:—{uu,ﬂ;'t

1 Of itself, then the valae
thusg obiained ig 1O800. What 4
that number ? -

B) 115 =
(€) 180 faferm == (D) 170 fafrmm =

R LA LR C R B IS R p—
wH sl @ wwm
(A) naf 4By Tl
) A (D) wudq

A8 B # @ - waRRi R A G d 7
(A) s ifrat (B) ShTer
or@m (D) wegh

_ag. ﬁﬁmﬁmﬁmm-m&uﬂnﬁmmﬁi
SEFTHH 10800 WA B 2, A g geq a2 7

(A} 130 — | ) )Wmu (B) 160
(C) 210 10D) 180 % - (C) 210 (D) 180
Malignant malaria is caused by ' ,_,31” Az wdifen g dm R
(A} Anabellayphy (A} THTRET Zre)
B} Plasmodium falciparym J,(B{ ATy S
1€ Salmonella typh; (C) WrEwRe e
{3 S}’li‘ﬂgﬁ’uﬁ!yphi (D) wWiiEn TIhr
2. L‘unsﬁider e following statements aboyt - IR we e dreen s wdn d Peafaiea @ 4
Pradhan Mantr Maisya Sampadg Yojana. LEEE ST
¥ _h. i o §li sk
1 ; ;:;:i::ﬁh:j E&Themc for focused ang 1, W T Y wee a4 i 6 o
abie developiment of fisherieg Mﬁmuﬁg%m
8CCtor in the Countyy, m % | 3¢
I M aims at enhancing figp Production by I, ¥em sia wF R 70 owa
an additional 70 lakh tonne by 2024.28, 2024-25 7 WTEh IR W g9,
increasing fisheries CXport earnings 1o 2024-25 % e Frafa srma w az
Rs. 1,00,000 crore by 2024.95, . 1,00,000 F02 wFHdEw R |
(Al Only the statement | js corrent (A) FEFd 1 aa ?
(B} Both the statements 1 and |1 are correcy (8w 1 o it wea §
(C} Only the statement 11 ig correcy 'f[c] e A 119 R
(D} None of the above (D) wlved ® d gt
M15
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hich Indian district hosts india’s highest )a/ vt f@ 1 vina 3 wed w1 sde md y
ark ?
zb::lhpamuﬁ (B) Pauri Garhwal (4} N Uy TR
O) Uttarkashi (D) Dehradun (€) T 4By e
Norld Press Frecdom day is celcbrated 247 Fus S w0 a3 S
every ycar on o |A) 4 U 5w
(A] 4% March (B) S™ April I & A i
(C) 3™ May (D) None of the above {C) .3 i D) e
Find the missing letters in the sequence. 3'5/ A FIEEE 1 ﬁlﬂ sl ) 30 |
ef fe fpefe gy ¢ : Emﬂ“--f@—tkgg Elf"
(A gefefe (B) ggeeft (8) gafele BT ggeclt
(©) geffeg - D) gaecly (€ egffeg M) geeele
In 2021 Asian Table Tennis Championships /gﬂ 2021 & uferard e 2w S A
was held at . (ay =fifsm
% \A) Beijing B) #1eAlg
&y (B) Katmandu B)
(C) Doha () T
(D) Abudhabi _Dy-sigamd
M. Llet PQ be 32 km, A man stasts from P and /27’ PQ = 32 fef R | us wafFa p & sy w0 T
walks 16 km on first day. On the second day fm 16 fft 9= i'ﬁf&ﬁ!? 8 frft wem ¥ 1 i
he walks 8 km on the third day, he walks frafehtamamtsii@Hamdisgaz I |Q
4 km and so on. When will he reach Q ? Rﬁﬂq‘ﬁ%‘fﬂ?
A} In 16 days (B} In 32 days (A) 16 &I | ®m) 327 R
(C) In 8 days (D) None of these )el/ﬂ =i 5 (D) v & =rd =l
8. Find the missing term in the series. /‘15/ Trefertian Jaen d qa e A aw )
A E, J, 0, aCE L O
o T (B) V s - isrT |) Vv
<) s (D) None of these |2 (C) S (D) e ¥ g ot
. The biological process in which an organism ﬂ{“mmﬁﬂﬁﬁﬁﬂﬂmﬁﬁmﬁw
m rise 1w young ones |offspring) similar Lo Ty
¥
(A} Transduction |B) Evolution (A) [ () Frew
eproduction (D) Production AT R |D] I®EREA
W 12:144.9 307 123144319
A) 15 135 (B) 10; 140 : (A) 15 135 {B) 10: 140
€1 22 : 464 (D) 20 :400 (€) 22 : 464 _ABYT20 ;: 400
a
[ L FAME-Il scheme is related to AT, WH.L WA 11 dem Agafay
| A} Agricultura) sector

(A) % &g
(B) IT sector (B) . A, &
_lCy et &
(D) Tt & & wd sl

(€) Automobile sector
D} None of the above l

M1s5
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ac Trustceship Council of UNO was | /{mﬁﬁ?ﬂ Ffom 38 i e & a1 1 799 1994
uspended: on 1® November 1994 with 'Gﬁ?ﬁ- i e ofre fieifia
ndependence of its last trust territory. :11 ? TPl = fom
|4} East Timor 1B} Thailand [A) ﬁﬁ{ﬁh (B) mﬁg
(C) Palou D) Nigeria _ ARy s (D) gt
Which letter would complete the puzzle ? ,‘33/ WA 778 3 T9H WB -1 R T ?
D B T
el ~ 1w o C | N | =u
T e | P X ?
W N - (B) P (A) N (B) P
) J (D) M ©J ADY'M
The UN charter consisted of 347w TR TR e &
(A) 111 Articles (Bl 125 Articles (A} 111 =07 (B) 125 g
[C) 390 Articles (D) 110 Articles (C) 390 FAT=I=R _ABYT 110 e
S.  Find out the n™ term of 3, 9, 27, 81,... /ar( 379,27, 81,.. Mo RyE= )
(A) 3» (B) 3=4- (A) 3= (B) 3~2
5 M) 3= (C) 3w ARy
3677 S is vx\kﬁu}o-idngtiﬁﬁmiun ’;,36/# _ ORI -TRNH A &, T UE 96 1 9EaH
" Y. g vaed o foramm 3T 'ﬂ'ﬂiﬁ
transmit identificarion dttﬂli’i[;;u:ig;t ke L 4
S 2
: B) T g veehE ()
(B] Brain Computer Interface (BCY) t'
Lﬂ Radio Frequency Id:ntiﬁc:ﬁnnI lﬁpln}f"‘ W A R (s ur g )
(D) Internet Protocol Television (IPTV) v (D) §=ee vRwte dfafaw (amd 4 A .H.)
37. Th ionic  si ; ; -
e, Sy 0ooupied by unpaiccd | a7 sty séwgta gt e s v
(4] G-centres (B) P-centres (A) G-F% _By-F-Hx
(C) C-centres (D) E-ventres (C) ¥z (D) E-¥%
/;'..af/_ : . is an unsubtle play of words on | 367 . T & T W # A, vl g fum #
Microsoft’s Buck Office suite of programs for gt & Sk W agea # |
NT serveér.
@6 (A] WANK AT RS
ﬁ {B) Back Orifice (8) &5 arfifRm
(C) SPAM (C) T LY UH. &
{D} None of these (D) T8 & wrf el
39, The total number of time zones in the world ,ﬁ/ﬁ:iwm &=} ot wEm
Ay 7 (B) 2 (A) 7 By 2
1) 24 ) 11 (C) 24 _iBri
M16 -6-
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:

3. Thegrealest number, which when subtracted

m 5834, gives a number exactly divisible

fro

by each of 20, 28, 32 and 35, is
(a) 1120 (B) 5600
(C) 5200 (D) 4714

In PowerPoint 2003 to change the
packground of the presentation, you need
to select background from the -

maenu.

(A) Format [B] Edit

(C} View (D) File

). With respect to armed police, the head of a
battalion is called the
(A) Commander in Chief
{(B) Deputy Commander
(C) Commando N
(D) Commanding Officer N

l. Which is the first Paleolithic site found in
[ndia ?
{A) Tiruanalveli in Tamil Nadu
(B} Kathewar in Gujarat
) Sohan river basin
(D} Ajmer in Rajasthan

L.

CMMS - 85

. o wad 9 e fld 5834 48wl m e wem
a7 2efi 8, 5 20, 28, 32 3N 35 5 & vl A i

Rva g
(A 1120 (B 5600
%E (C) 5200 /m(tmq
< wa gtfz 2003 A wegfe A dawrEs TEfly =0

% fer, o=t 3 @ dFTSE T |

{A) FrH /(B-rttﬁz

C) =, (D) e

Jﬁ/mg&ﬂiﬁaﬁa,mﬂgﬁm

FEALE |

~ sy B T T e Tl R H-a g
(A} Frereaen, afieTg
(B) I, [
(C) W ¢t &t
4Dy S, T
47 wEad i freey s wf @@ W

l In Excel, the option presentin __ tab | s
allow you to lock the selected cell. TN @ il &lgqﬁ e
(A) Protection (B) Format Ay e (B) o
(C) Font (D) Patterns T e (D) ¥

L Eight college students A, B, C, D, E, F,'G
and H are sitting around a circular table
playing a game. Four of them A, B, E and ¥
are not facing the centre, D is third to the
left of H, who is fourth to the right of E. A
18 third to the right of B, who is third to the
left of D. F is second to the left of C.

I_lﬂw many people sit between G and B ?
(if the counting starts from B in clockwisc
d-]ﬂ:miu_r;j

(A} Three {B) Four

(C) One (D) Two

* The term refers to the person | A

With the intention of finding some weak
Points jn the security of websites and
U F computer systems in order to gain
Nauthorised access.

(4} Fraud (B) Hacker
) Cracker (D) Theft

A(ﬁﬁwﬁum%smn,mc, D,E,F, G

TH H U geTaR Zae ¥ 9l S0 33 o g
G | I A A, B, E o F w1 qa dx 6 i
21D, H# e s A det wE S s
Exsa M memd A Bhedadwar
SfE pHadAdaud | F,cHEad A @R
q s pEdad frdamad § ? (srmed A Rm

1 i & firet 3F 1wy
_fayha (B] W
(C) T (D) &

6, wm ____ 3w = @ weitn @ < sonfigm vda
1 R ¥ Avade ahv oy s yenferdt K g

# wo s fig f@ A amwa
(A) T8 4Bt
(C) (D) 4%

M15




T,

Constitution a

48.

Sruun fopora causSes
49. Erwrintd Caro L
1Al Asier yn:’:ucm- 1B) ot -
(<) Crown gall ol Forest
ly
1 _oriented and 18TBE
e nes o g{::‘camplishing gel rasks
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According to this Article of Indian
money bill shall not be

introduced in the Council of States.

(A) Article 102
(B) Article 109
(C) Article 110
13)] Article 105

words/letters -
on an anglec OF & (=11}

(A) Clipart B)
(<) Wordart (D) None of the

ve eto.
pictures

ney cffects on

: words

poove

o - E.
L e i 3 Fe argede % srgan 0w A farm
mﬁm%&mﬁﬂﬂmﬁmm?
() FTEE 102
() >F=a7 109
Wnu
(D) srg=da 105
/n,s/ _wrﬁmﬁ;mﬁummﬁ
£ ﬁ_wﬁ_ﬁmﬁﬁm.ﬁmmmﬁm
ﬂﬂﬁﬂ:ﬂ%%ﬂ?{%ﬁil
() et B Frd |
//le]"aé:mi (D) v A 1 4
P sl g e
| e TR @) AR
At T
8o @ﬁmﬂﬁﬂ‘-ﬁﬁﬂﬂm“ _
aﬁtwaﬁ%mﬁiaﬁ gﬁ
,tm"{zmﬁfﬂﬁg;r
(B) Sl
ﬁsﬂa"%al
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tands for
Jommon Line Interface

-ommon Line Interaction
Command Line Interface
Command Line Interaction

&
@

al Pratap is on the 13" position from
ting and on the 17" position from the
of his class. He is on 8" position from
starung and on 13" position from Lhe

CMMS - 85

_ 5% W@, w wrem @

9 1A A
(B) i TR Fz0uare
(C) *HTE WA $Z0HR
(D) AT AT e

;(mmmmﬁqaﬁlsémmmmﬁ

17 3 T s R | 5it et gr § 36y @ 3w
B A R alf® 37 @ 13 7t af § Fd Rrenefi sme

| among the students who passed. How ®7
ny students failed ? A 7
7 (&)
| Cannot be determined (B) vt 8 fr n wa
] 8 iC) 8
| None of the above T 8 | ¢ 7]
hich of the following is the rupee T Pefafae A @ FW-w 9 ¥ awardin gensdt
:nominated bonds issued outside India by e
idian entities ? mwﬂmmm mm%?.
A) Bharath Bonds (B} Masala Bonds AAY TR AT (B) waTen T8
C) Sugar Bonds (D) Nonc of the above () ft s (D) I7aa d & =18 7
(2.3)* -0.027 ] (2.3)" -0.027 |
Mhe value of { ] i : ' -
(2.3)' +0.6940.09 | *° cﬁ"/ (2.3)° +0.69 m.ugj L
(A) 2.33 B 2.27 (A) 2.33 1B) 2.27
IC) 2.6 D) 2 ) 2.6 D) 2
When barrier bars and spits form at a mouthiof | 58 @ U Tt  merd 4w aw o e v # sk
& bay and block it, results in the formationof | T 72 w03 § W 3 vivemy g R
|A) Estuary (B] Beach (A) TEM _ a
(C} Lagoons D} Barrier reefs (C) E - (D) 40 9EE
m&;ﬁ‘fﬁf"cm“ of Cockroach s _ 89 Wi afd e e
(A} Collagen  (B) Chitin (A) R m Rls i
(C) Chondratin (D) Chondratin sulphate |C) gt ~B7 w2
Which Section of IT Act deals with Hacking ,af ik, srftfimn ) wda - wo S faea A
of computer systems and its penaltics ? ot wF dz @ wifa @ 7
IA) Section 62 (B} Section 67 (A) HRI 62 _-ABy-UTl &7
(€} Section 65 (D) Sectlon 66 (C) Gt 65 (D] 4T 66
Mnhl.l‘l.i went to the !‘l‘lD‘b‘iﬁl nine ﬂﬂ)"ﬂ BEO, /"1:’-’- ﬁlﬁh*ﬁﬂ*‘[ﬁ ﬁ'ﬁi’i‘ﬂﬁ“‘l’ iﬂtﬂa![ﬁl{h’l

She goes 1o the movies only on Thursday.
What day of the week is today ?

A} SBunday (B} Tuesday

e dE ol R | s ue MEA-m R 7

T

(C) wEm

(B} WTEER

{7 W

(C} Thursday (D) Saturday

.9- M15




gocial process that

g8, The cens ences of &
are sought o7 anticipated: T

(Al gochal funciion®
(B) Both (D) and (A}
(G Latent fupcticn?
™ Munifest functions

is the present Governor of Reaerve

Bank of India 7
{A} DT Raghuram 0. Rajan
(B) Shaluikanta Das
{C) Dr- Urjit R Patel
{2y Nonc of the above
&7. If succession gceurs on bare rock, it is
mown: 8%
|A) Primary succession
B Physical succession
IC) Negative guccession
D) None of these

M15
-10-

,...-51'”-'; ﬂﬂﬂﬂﬂﬁmmmt‘ﬁ

(3] 21, T St T
s T aTd

<) =, 3Pka s, TR

(D) it o @ = T

A € |

(A) Smefiveh FeTA

Wm
__ACT FOIe IO
(D) Wi & wrd Tt
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CMMS - S5
» siudent mmﬁmmﬁ prpers /gsc’; w14 3 ) 150 3Rl F 6 ¥ 8 64% 3%
|'."' 1'“:' mark __ﬁﬁ.ﬂ'-l- e’m 5 ‘:I.':\'nll L] his . i Pt ey ey EL L -
L-.E.'I1<"-l'- o1 ained marks ﬁfﬂiﬂ(h nnd Enghsh h"U‘ tAE ﬂtﬁmmm ﬂs%ﬁamGMiﬁﬂT
topether. meunhw‘hin total scorc for WW?!H%MWM@WW*
both these papees®. () 120 ®) 144
1Ay 120 B 14 P
o140 D} 124 /j,r::f 140 (D) 124

k —

Four different

amc dice are ﬁ/@ﬁmﬁunﬁﬁﬂﬁﬁﬂiMMWW

shown. Sclect _ LS that will 4 Fiz 8, e ﬁiﬁl’t “ﬁﬁ@ﬂﬁ%l
he on the face @ : ne Bhowing L i Ia'&“ii
‘4 dots'. :
0§ P PP P
(B) 3
(&) 2 (B) 3 ’/l?}w? s
(1 (D) &

Ina presentation you can include information ,5‘, f‘r/fﬁ m LR b Sl S ) BUAH 3193 favirn
such as the company name or the name of 1T L___ﬁ‘!'ﬂﬁiﬂﬁaﬁit

your department in the 'ETE'E?T# a(dF
(A} Title (B} Footer box = ‘Vﬂ/ (8) 'E:
() Header box (D) Status (©) ¥e AR (D) QR
L Whic]::l of ;hc 1[-:nllowinﬁ State Governments | 217 Fxfofia 3§ & #-dh wou s A g @
recently has launched COVID-19 uffected Fifez- 19 yalm vifis vemem T Ay
Livelihood Support Scheme ? : 1 = A
(A} Manipur (B) Nagaland (A) BT e "Hl_
{C) Mizoram (D) None of the above _ter Tireimm (D) Wﬂ'ﬁi_ﬂ‘ﬂ'ﬁi‘!ﬂf
. The printed price of a book is Rs. 320. ;{/@ng&awrs. 320 % | vF Hea FaFa
A Tttallil.'.l' pays Rs. 244.80 for it. He gets T T F. 244 .80 =1 A a1 ¥ |1 SR oY L4
ﬁ'r'.‘rcccssj.wc discounts of 10% and an another 10% it o= o ) w=fas e Tt ®i m‘ﬁ?ﬂ
fute. His second rate is wWEMY T
(&) 14%, (B) 16% B _lA-T4% @) 16%
IC} 15% (D) 12% ' (C} 15% (D) 12%
n, :
ore———— Comcs into play whenever a ‘2’3?/___ a% vt # o R ww A o ¥ o
u%tan 18 to be removed from Lhe ready whEa T sz g & mifs weddnfin @ fof wed
:Em'flu_ﬁ thereby reducing the degree of FUE |
Uprogramming,
i) Long-term Scheduler (A) -7 e
o) CPU Scheduler Byt Mg AR
I.E] Short-term Scheduler (C) Tfé-24 Nawen
. | Medium-term Scheduler R ELLEAR B0 Gl
" T : ¥
oe =0 N incomes of the individuals as well | 747 safSipl) ¥ 9 ST §19 8 W4 FRIE efd
Profits of business enterprises is & Tl T
lC‘: Indirect taxes (B} Tariffs (A) ST (B) Jr=
GST (D) Direct taxes () .zw A, AP TR
-11- M15
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‘rcgulates the functionsof  + | ,TS/ __ wfsft arem ¥ wrdl %t g s g,
securities market, detects malpractice and FEET H I @ € o PR F RE g
protects the interests of investors. e Y
(A) MNational Securities Depository
Limited (NSDL) (A) e dgfife aafeh fafies
(B) Central Burcau of Investigation (CBI) (.vadwE.)
{C) Bombay Stock Exchange (BSE) (B) 8= g0 3ife Fafeied ()
(D} Security and Exchange Board of (C) & wiw vwads (fwm i)
India (SEBI) _{py-¥Ffe s v 91 o i ()
‘6. After Karyogamy the fertilised egg becomes /7‘6// et % e Fifma o PR-d s e} ?
which structure ? E@i :
(A) Pollen sac (B} Ovary B (A) v e et
(C) Zygote (D) Embryo ey {D} W
T7. W 3% April 1752 is a Monday, which day of | 277 32 3 si@ 1752 v gran &, &
the week will 26* April 1752 be - 26 3T l?szmmﬂ;‘_m ﬁqm 7
lA) Sunday (B) Saturday s tiEaEm (B) TfHEm
(C} Monday D) Wednesday (C) [ET (D) FEER
78. Which type of irrigation is most efficient ,.ﬂ/ w-w fimrd = ven Reasie wual & e wem
water and nutrient delivery system for Tl @ o 9res o= el v B R 7
Erowing crops ?
{A] Drip irrigation {B) Flood irrigation (A) %qﬁﬁrﬁ (B) wore R
(C) Sprinkler irrigation [D) Fog irrigation _Aey eiwen famd (D) =ew fiwrd
79. Find the odd one out in the group of letters. “391/) o o ste wE @ ava w1 ghe |
(A) IR (B) KO (A) TR _IBrK O
(C) BY (D) DW (C) BY D) DW
80. Huwd ma;whti:i?ea clio tém minute /.50/ v B H 2 p.m. B 8 p.m. 7% fvadt IR ol
han t ur h i lock
oDl with each. pthes Tewmn B 6 g v 0 T R S w1
2 p.m. to 8 p.m. in a day ? 4 (B] SR
(A) seven (8] it /HTH .
(C) five (D) six (C) (D] B:
81. Who is the current Chairman of Union _‘,JH/ it e st 3 i sy w1
Public Service Commission ? (a) fEam = EEY
(A] Smita Nagaraj b i %%
{B] Mana) Som Aq it
(C) Pradeep Kumar Joshi ALy Tﬁ =
(D) None of the abave (D) IR
82, The primary sector of Economic activities 7 il ot Faufm
= 'e:ﬂl B) WO T
(A} Agriculture (B) Fishing 1A) ‘
(C) Foreatry (D) Al of the abiove | (c) i APT IR A3l
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	Haryana Police Constable 2 Nov 2021 Morning 1st Paper
	Haryana Police Constable 2 Nov 2021 Morning 2nd Paper
	Haryana Police Constable 2 Nov 2021 Morning 3rd Paper
	Haryana Police Constable 2 Nov 2021 Morning 3rd Paper
	photo_2021-11-02_12-31-29

	Haryana Police Constable 2 Nov 2021 Morning 4th Paper

